TERTE BIGHAAT RINT : IASA/AT JAURIET 29 A5 2039
AHNY 7YY YU R

Ui SART AT TTAR JTTRT T 8. 9 T 4 U IR .

IR-srerar T & oreft T fraguedt ame &, Rreamed ded—argrdie Ui gcamdl
T FaSme FHEe gugreT FHIRIET PIVTE SMURER 3Gl Jdfdul & F9d. iR-
HTRIAT FHT &1 Hel T, egHed T ST07 Ry FoT S1elT STaTea i i@ S,
31T TR TR HAYUBM TN gedhral a8 Soflayded delell 3 ; Tehria!
Al s & S I, ST QTeRia AR HIedN, IR-HTeIaT T dlpefiel IepR
A& AT Tehie TR 2qYaD Fas, Tae aRgAMIIT BIcaT aRgATT o FYof
AR TLIGR SRV 3Rie febar ufifeficd aver arem SMURTER avaTd. IqeRuned, SR
TR ISIE TEUITT Alepiedn SMfieh R 1T -l 3iiel, TR Axdle] STRITARITG!
T AT Prat TR 30T WA ferfefies deamer aqyas Fas el ST aehd. 3TN HpR
STRITATAT IAIBRIAT 0fg a1 THT STRRISIME Hgw@yqul fHesT Seiradl,

31 RIS 9Ifchds Teplell T FasHeia vdom Wua wefl s/id. |y
AT GEIPHN 3T Hel Fsepd QU e Fias &% bl MU SR 3R 88t R |qul
diepeliara faaet glss erepdl. 312 Refl A1 TepIReaT T THE qauggaden T fevara
YT AHEA!. U0 SR FLATUP {T:08MTciuv], Jauggiadia SRR SRdial AT 3/ ot
HUIATC! 3TTaeD AT SFIHd Tl UG 3RieT oR STvfiaqdes Faseied e faeetyumd
fiaTetel FIShSILaT el BIvaTSaud fIeaw1g 3R] 2RhdTd. 3T 3Rel ARt IT TRl T aied
U TCHICT DIl JHIU bl JRT FHIAE BIUgTel FqeIepunces el fssca arelt @Bl oat
AT AR AT T YR TN JCHT IS @eh bell ST b ATEl. U Jaggod Hed
FH-3Tfres T AEHrE sTewRd). M, WUl I WTH! JRIied dbeAed AT FHAT
STRRESATET PRI TR Pbell Sl IRT 3RSl I, PH! ATHT 3Feledl Alben 3N aafehd
LMY AT FRRISITAT FAIDBR Bedl ST ADhal. BRI AT AT TGAHE SUSIrd des ST
Yeridt JaTED 9d 8. DIeT T 8 G&T IR-FHTAT T ISTER0T 3N, DICT T
ARGIGRT eAHqUl T aTel, ATfEd ! HRUITT Plel euTg fafde FeRTdie ATfeet HRuarRIet
AT ST, ST QeGTT AR ST, TR Teebrdl Hedel (a8 & JradaRi=n R
AlSetel SRA. B FIT Ugel! STRIeT AIRhs 3N JeHehesed P! @fdep 37Te. URq el
yepR Faseiedn TRMe agfed T e Ffegdqu F9ard. PieT T g WRaR o
T SRAATT ST T SMURTER Pleiel Fpy STRIRG - Pleeied] ARbIT ITTRIAT
CRRINUINERRIGH
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Read the following passage and answer the questions 1 to 5.

Non-probability sampling is that sampling procedure which does not afford any basis for esti-
mating the probability that each item in the population has of being included in the sample. Non-prob-
ability sampling is also known by different name suh as deliberate samping, purposive sampling and
judgement sampling. In this type of sampling, items for the sample are selected deliberately by the
researcher; his choice concening the items remains supreme. In other words, under non-probability
sampling, the organisers of the inquiry purposively choose the particlualr units of the universe for con-
stituting a sample on the basis that the samll mass that they so select out of a huge one will be typical or
representative of the whole. For instance, if economic conditions of the people living in a state are to be
studied, a few towns and villages may be purposively selected for intensive study on the principle that
they can be represnetative of the entire state. Thus, the judgement of the organiser of the study plays an
important part in this sampling design.

In such a design, personal element has a great change of entering into the selection of the sample.
The investigator may select a sample which shall yield results favourable to his point of view and if that
happens, the entire inquiry may get vitiated. Thus, there is always the danger of bias entering into this
type of sampling technique. But if the investigators are impartial, work without bias and have the neces-
sary experience so as to take sound judgement, the results obtained from an analysis of deliberately
selected sample may be tolerably reiable. However, in such a sampling, there is no assurance that every
element has some specifiable chance of being included. Sampling error in this type of sampling cannot
be estimated and the element of bias, great or small, is always there. As such the sampling design gets
rarely adopted in large inquiries of importance. However, in small inquiries and researches by individu-
als, this design may be adopted because of the relative advantages of time and money inherent in this
method of sampling. Quota sampling is also an example of non-probability sampling. Under quota
sampling the interviewers are simply given quota to be filled from the different strata, with some restric-
tions on how they are to be filled. In other words, the actual selection of the items for the sample is left
to the interview's discretion. This type of samling is very convenient and is relatively inexpensive. But
the samples so selected certainly do not possess the characteristic of random sample. Quota samples
are essentially judgement samples and inferences drawn on their basis are not amenable to statistical
treatment in a formal way.

9)  HeM s T f[AeervumeRr serRa ey el oRy erehdTd. SR
a) T YRS A TR b) FeATUD FTHAT A TR,
¢) FANYUBH! FDHel T fFasal K. d) FeUepiT AP gl aTReAT TR,
Tff S :
q) el Fd T A AT R) Weh (a), (b) AT (c) B AT WA 3T,
3) Heh (a) 3T (b) € AT TR 3Med.  ¥) aNieddh! PIuare Wiy I ).

1)  Results obtained from an analysis of a deliberately selected sample may be reliable if :

a) Investigators are unbiased. b) Investigators are experienced.

c) Investigators select a favourable sample.  d) Investigators use statistical methods.
Answer Options :

1) All of the above are correct. 2) Only (a), (b) and (c) are correct.

3) Only (a) and (b) are correct 4) None of the above are correct
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Q)

2)

AT AT YT PIoRT fITT detel R ?

q) IRT-FHTIAT TLAMR FAUDRT s Ga Fg@yqul 3.
R) IR-AWTeIdT TS HNeTET Tt g,

3) IR-\HIA TS TN ST YedTel e .
8) PICT TR AIRTD! I Beard 3gH fpd e,

Which of the following statements is made in the passage ?

1) Choice of the researcher is very important in Non-probability sampling.
2) Non-probability sampling results in failure of research.

3) Non-probability sampling helps us estimate sampling errors.

4) Statistical analysis of quota samples gives accurate inferences.

3)

3)

IR-|AHTIAT FT SIRRISIHE AeNuehre Mo UM Ag@yqul &1 3/ 4d 2
q) FT FasamT Hanyerar ol sifcr s,
Q) FINYPBTAT FifThT fIATUNIIIaT B PRI AN,

3) Nielereh qEEea AT,
¥) B IRNGST AIRRAR 30T HHl @arar IRIar.

Why is the researcher's judgement vital in the non-probability sampling design ?
1) Researcher's choice concerning the items in the sampling is supreme.

2) Researcher have to work without statistical analysis.

3) Researcher are not biased.

4) The design is convenient and inexpensive

4)

IR—FHTIAT AT Uil PIVIAT A 3esedel ST ATl ?

q) BT T R) fofy g

3) DD T ¥) e
Non-Probability Sampling is NOT known by this name :

1) Purposive Sampling 2) Judgement Sampling
3) Random Sampling 4) Deliberate Sampling

4)

)

AT Fegach dHedT Gelerdeh! PIurdt Mg 2

9) AT T Q) Wbl fageryor

3) TG T g) IR—FHTIAT AT

The Central Idea of the passage is concerned with :

1) Probability Sampling 2) Statistical Analysis

3) Random Sampling 4) Non-probability sampling
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Y3ieT SART AT WTER JAMHTRA § I 90 TeATH! I .
SCELE]

TR IS 3T Beleth fegier a1 QF S=hi=t AicR SRT ST hicl! TISqT 3TTell. SMae
ARt FIATIRI TR heled] SUFER UTdedT ifgord aTeft Qe e gidl, qur &1 siesrd
NI T 3RTeAAT T SEM SToil G0 Aefl. USiel 89 S8 ol HTet 31T |IS g
fS3¥eT A e gad faRe e, TapT SRIepTieR IS MUT fesiet Fiet SeeT whelgy vamh fore faj
AT 3. acHDIe! 3Tl fsd Sum=aT Ugiferaea famdi=l SIaguHTar gl Ul

SITSYHTAT &1 STSiiet AT AT IMTETS! Bdell 3112, 3TSTd T JI31Td IRIAVET IR geHiet
AT g, Med. AL Feae HATIRT $eHIerd IUTed Bl S, TgTRIS! 4G et 7
IIRAT T Y Tes 38Tl fFodel ST, TRTHeT PBIedTd dhass §iold] YTIUIRY dTg= T 291Td
femfor Shefl STciet. e 37T SUFTA SUITRIT 37 IR AN RATel! SRy SHT MoTef!
ST TR, TAIfTPR gge, MY gUgTea] HRIGR 3Ted.’ 3T T QaITliel daeliaT SaT 3.

3R FHRITANT 3T BRI hel ST, JRIUTCAIS ST g1 Q@1 SRiifSsierar wafd Aiet
G 3. HRARIE 3 30 STd FRIFRIT F I uRd 321 ST PHRUATd TR ATe],
3. R, AT, YT, I, G181, i 37em 3 aRucuRI $eHlerd JedTed hral A,

HE@r! ME et 6, IRURS PR ST SITSUHTaR dTe], AhdId. ATRE et fhar
fEgier amed e O geATeT fARTesT O fAYSIOT UM TRU aToRaT A, URURe fERer 3R 0
TR SIASYFTAR ST UHR TTeld. YT SITgU-TTG! aTgrd! 3o IeaAaTd HRUl T8, SIageHd
BIET-SRI-3MTaATgs Fmfor BId A1El, g AT 3MURdt U dfdre e

Gt et 0T SRuIATS! ATl Sicaraet au SnTw. ASeIC 3D STad aRdd IR
SIASUT UTH Al Ad. SIASUTHYT $hd® Ble--SRI-ATqISSA] ScasHTa HHI0T HH! 31,
3R ATE, TR ARG SAIRSARY 3 AUt arggl fem ST SR el S ATgIa.
TR JUSEFAT ST AT ANAS RIS JUETeY ST ITaRT hacs St e ST
RTElel. ATRERT 3Fd YpReAT HIAIRITE SagUra ST Il Asal.

Read the following passage and answer the questions from 6 to 10.
Bio-fuel

Henry Ford and Rudolf Diesel these two person made revolution in motor car industry. They
expected that their motor car should be run on fuel obtained from plants, but in those days crude oil was
the cheapest and won the competition. Petrol became popular and dream of Henry Ford and Rudolf
Diesel shattered. After a century the will of Henry Ford and Rudolf Diesel is about to fulfil. Presently the
hike in the petroleum opens the channel for bio-fuel. Slowly the use of bio-fuel in cars, trucks and
aeroplanes is becoming popular.

Brazil took lead in the bio-fuel. At present there are more than four hundred ethanol production
centres in that country, that ethanol produced only from sugarcane. They do not use the pure gasoline
but mixed 25% ethanol in it. In future, only ethanol consuming vehicles will be manufactured in that
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country. More and more land is used for the plantation of sugarcane and ethanol producing plants.
"Gasoline cars are slowly disappearing." technicians of that country claim.

Ethanol is obtained from maize in America. Germany is the largest producer of biodiesel in
Europe. Along with India other 30 countries are trying to produce ethanol from various plants. Ethanol
can be produced from the plants like coconut, soyabean, groundnut, palm, grapes and beetroot.

The most important thing is the conventional car engines can be run on bio-fuel. Apart from this,
the proper mixture of ethanol in gasoline or diesel can be used as fuel. The conventional diesel engine
can run better in 20% bio-fuel. It means there is no need to change the vehicle engines for bio-fuel. Its
specially in that Bio-fuel does not emit carbon-dioxide.

Nature take crores of years to produce crude-oil, instead the bio-fuel is obtained from the plants
and vegetation. Bio-fuel not only emits the low carbon-dioxide but also does not emit the toxic gases
like nitrogen oxide. The production of bio-fuel will be depending on the growth capacity of the plants
and availability of land for the plantation. Apart from this the production of bio-fuel will be possible from
the various types of waste.

§) SlgSYT IR WlefteTdd! PIv BRI SRR 3MRd 7
a) SIASYT FTUYRIT IR =l A,
b) SISO UGN HHT Fse.
) SIASYFH® WS arafadr .
d) SlIgYT W TR,

gift SR
9) (a) 30T (b) R) (b) 3 (c)
3) (a), (b) 3T (¢) A SRSE]

6)  Which of the following benefits of use of Bio-fuel are correct ?
a) Bio-fuel is made from vegetations.
b) Less pollution by use of bio-fuel.
¢) Useof bio-fuel will save crude oil.
d) Bio-fuelischeap

Answer Options :
1) (a) and (b) 2) (b) and (c)
3) (a), (b) and (c) 4) Above all

9) el B fau™ sRIeR 3mRd ?
a) URIRS PR §OM SIGSUHRR T, AT,
b) T PR AHAY Bl
¢) SIaSUTHS TUl PHI g Irepl.
d) SIASYTHS A ST JeAvar HRUT TR

g IR :
9) (a) 3T (b) SRR ?) (), (b) 3T (c) SRR
3) (a), (c) 3MfT (d) TR ¥) oIl A TRIaR
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7)  Which of the following statements are correct ?
a) Conventional car engines can be run on Bio-fuel.
b) Gasoline cars are disappearing.
¢) Pollution minimize due to Bio-fuels.
d) Nochanges of vehicle engines due to Bio-fuel.
Answer Options :
1) (a) and (b) correct 2) (a), (b) and (c¢) correct
3) (a), (c) and (d) correct 4) Above all correct
¢) WRATAISH PV S AlCRIT aRIHS HiS AT et Iid T gad fae el ?
q) IEfeR ?) g
3) g 8) Ugiet
8)  Use of which of the following source of energy in motor cars shattered dream of Ford and
Diesel?
1) Biodiesel 2) Diesel 3) Ethanol 4) Petrol
Q) Wit faur= g s Iraest A gty e
Ay : Sggue g @RS detTel wala &% e
Ay (A) : @i da Fftiden eieamaed a¥ ama.
(B) : @fTST detrea Scaeire Rt anfeht ffifeht 2.
Tt IR :
q) Frspd (A) RIR g (B) ID
?) Fspd (A) aTfYT (B) SRR
3) =y (A) smifor (B) 9
g) FI=pY (A) TP T (B) RIR
9)  Choose the correct alternative from Statement and Conclusion given below :
Statement : Bio-fuel is alternative to crude oil.
Conclusion (A) : Crude oil takes crores of years to produce.
(B) : Due to crude oil, toxic gases will be created.
Answer Optoins :
1) Conclusion (A) correct, (B) incorrect.
2) Conclusion (A) and (B) correct.
3) Conclusion (A) and (B) incorrect.
4) Conclusion (A) incorrect, (B) correct.
q0) WTeleTeh! PIUR fAur sRIeR fed ?

a) Sreilem Sagus STGHId JTETe! e,
b) IFRIBd HAURT ST TR el S,
¢) FRUIIA ST & < IifSsieral Hafd Alel Sced <2l 3.
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gt SR
q) Weh (a) SRR 3T 2) W (a) 3N (b) RIeR
3) Wb (a) AT (c) SRIER 3T ¥) d SRISR e

10)  Which of the following statements are correct ?
a) Brazil took lead in the bio-fuel production.
b) Ethanol is obtained from sugarcane in America.
¢) Germany is the largest producer of biodiesel in Europe.

Answer Optins :
1) Only (a) is correct 2) Only (a) and (b) are correct
3) Only (a) and (c) are correct 4) All are correct

YaieT SRT Tg WTER TR 0. 3. 99 T 94 TR IR &1,
TN, BISTSRIUTS SIS T g9 ATfawit
[Force, Criminal Force and Assault]

3¥]. TN [Force] - TETIN SR 31T chidT SRiT Tt AT el fohar mfteger 3R
TRIRT ey AU SFRMET SR WATel UGIITT T 31 Schiedl SRRTAT Hivrral Hrmeft
fohaT T 31 Sehi URYUTH dheled fhaT STae ITeTTeledT PIvTE! St Fueh ga fohar a7em
TP T 3 Shial 98 Adgar IRUM Fisel DR R/ SRIeiedT PIVRATE aveit
U TSet 31N dee T uerteT St deft et fAmfor dheft fhar srar nittege sRR ferfeRm
g7 AT TR AN T A chiedT e DISTGRIUT IR HRal 3RT Fgeel SN, J1H, T
fomior o= fohar Tfteed SFR TIRIRM g8qy ST @hi4, a1 ITge 9u H_udTd
3TTeledT <= UeRTIDT TepT HepR et 0T hefl sRelt difest fohat fteed iR TiifoRT gsqd
3TTUTET JTAAT UTfE.

TP : WG TRIRG e g,

g : T ugref arer U 3901, B vt Faa:a fhdT 3T PIUITE! SRhleT SRt
HTE! Pcil BRIET T AR Tl 07 Brsal febar Tfieget aFR TfcfeR™ agd I

A« PIOTTE HTogTeT T BT, Tfieget dHRud fhar TffaRT axuaRT vad awor.

340. BHISIGR! U TAUANT — SR DIV PIUATE! FhAT JTedid, T FchAT AH IR
SeYdD TATINT hell ST Al PIUATE! IIRTY PRUITAT FASTHIS SRIeT 37a] ST Fchial
JEINT HRUITT 3T T ThRT AT JAHINMGR &t (Jepar) araret fohar sficht arerdt far
N AT 3T AT Jedl el ST 37 JAINS TR BIUATT 3MTAU BRUT GO T
T AT ATUftg SRYST TR, o AT 31T BT STaciiel PhISTGRIUTS SA%INT PRl 3 Tecal
ST

349. EHE — SR DIVl PHIATE! gIaHTa fhaT FHeeial TIRT detl ST 3T grawTa fohar qat
IS ST PV AT UG fohar TR PRIeT Al FHE §OR RAeied] Schi<dl aadd hiSTqRIdT
EHUTT SN HRUTTT 9adTd 37T 31eft URdt 1 agehlear w=7d femfor it smar < Sga
3l fohar a1 BIvaTT i9d 3RTT STel Sofla sRiet @R, ol g9l Ral 3R FEedl S
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TEIRRT - haed ITRA S § ‘FHAT IT AR Aled ATeid. JUT WaTe! &hl o 9Teg IeRIct
IS, SR o gravTa fohem ARy & &l TRU UM et 37T YehRaT 31ef T gIaNTaE
fehaT TR UTH 81 2Tdha.

Read the following passage and answer the questions 11 - 15.

Of Force, Criminal Force and Assault
[Force, Criminal Force and Assault]

349. Force - A person is said to use force to another if he causes motion, change of motion, or
cessation of motion to that other, or if causes to any substance such motion, or change of motion, or
cessation of motion as brings that substance into contact with any part of that other's body, or with
anything which that other is wearing or carrying, or with anything so situated that such contact affects
that other's sense of feeling.

Provided that the person causing the motion, or change of motion, or cessation of motion, causes
that motion, change of motion, or cessation of motion in one of the three ways hereinafter described.

First - By his own bodily power.

Secondly - By disposing any substance in such a manner tha the motion or change or cessation of
motion takee place without any further act on his part, or on the part of any other person.

Thirdly - By inducing any animal to move, to change its motion, or to cease to move.

350. Criminal force - Whoever intertionally uses force to any person, without that person's
consent, in order to the committing of any offence, or intending by the use of such force to cause, or
knowing it to be likely that by the use of such force he will cause injury, fear or annoyance to the person
to whom the force is used, is said to use criminal force to that other.

351. Assault - Whoever makes any gesture, or any preparation intending or knowing it to be
likely that such gesture or preparation will cause any person present to apprehend that he who makes
that gesture or preparation is about to use criminal force to that person, is said to commit and assault.

Explanation - Mere words do not amount to an assault. But the words which a person uses may
give to his gestures of preparation such a meaning as may make those gestures or preparations amount

to an assault.

99) e’ g T o RAMEY T’ T SoT grat AT SeAM AT (‘I TAT) AHAIE e
oRar g er’’ o gt L 3.
q) AUI
R) BISERITE FwINT
3) gHell
g) T Tag! ATE
11) "A"intentionally pushes against "Y" in the street. "A" has done so without "Y's" consent, intending
to cause injury to "Y". The actof "A" is ........
1) Force
2) Criminal Force

3) Assault
4) None of the above
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92) "'goT YNNG’ FHEY Bl
a) WA ANIRD AT aruRuy,
b) waTeT ugref 3rer fRUhd 3qur, &l Siviered Td:aT fohaT 37T PIVIATET Rchict TTURT
BTG Pl PRIET T AR Tt AT Bt fhar et oR TfiifiRm agT 5.
c) PV TTUITAT T gIUAT, TciaGel e fohaT TMHIfRT HRuaRT Ugd = o,
Tff S :
9) T (a) ?) (a) 3T (b)
3) (), (b) MM (c) 8) aletich! Tgl ATt
12) "Force" INCLUDES -
a) Useof own bodily power.
b) By disposing any substance in such a manner that the motion or change or cessation of
motion takes place without any further act on his part or on the part of any other person.
¢) Bynotinducing any animal to move, to change its motion, or to cease to move.
Answer Options :
1) Only (a) 2) (a) and (b)
3) (a), (b) and (¢) 4) None of the above
93) ‘¥ EE wRIg Mg, I, I T IRy e UTuamey Shosd giufl, o
a5l Mg ¢ HIfed SRITe! JAlaal, AN AT aTse 2 3 o= ‘a1 A1 & et ...
3TTE.
q) BISTGRIUTS SATIRT R) BHell
3) IR g) It Tepgl ATer
13) "Y"isbathing. "A" without the consent of "Y" pours into the bath water which he knows to be
boiling with ill intention. "A" has committed...........
1) Criminal Force 2) Assault
3) Force 4) None of the above
1) feeiear uReeeran sFWH el faumitet pivd U /iy SRR ag/d ?
a) I el Ay Pl 3 e, ' @1 Ul - & 99 gHe’ a1 [eRId AT,
b) ‘37" U HET RET IJeAqGWD 3Aedl. e Wit areer fhar I g5t ardt Soflg
SRITHT T o FAdiargg a9 det — ‘o'’ 7 foram Jelia PSRRI SevnT
el 3.
Tl I -
9) (a) TR 37 ?) (b) SRR MM
3) () 3T (b) ST AR 3T 8) (a) 3TN (b) SIT g M
14)  Among the following statement/s in relation to the paragraph given, is/are correct.

a) "A"saysto"Y"that "I will give you abeating" - this act amounts to Assault.
b) "A"intentionally pulls up a woman's veil. "A" does so without her consent knowing it to be
likely that he many thereby frighten or annoy her. "A" has used criminal force to her.
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Answer Options :
1) (a) is correct 2) (b) is correct
3) (a) and (b) both are correct 4) (a) and (b) both are wrong

94) a7 I AT PRI THDI Ag AN, '’ & PAEM T R FG e
U SATd e 37t e g’ =t FEeT cgret S/ U AT Ied 3g R e
=7 A1 eflell BRI FGUIT Il ?

) FATINT ) BISGRIUTE SIS
3) g9l 8) aleTtchl Tebal ATEl

15) "A"begins to unloose the muzzle of a ferocious dog, intending that he may there by cause "Y" to
believe that he is about to cause the dog to attack "Y", "A" has committed ........
1) Force 2) Criminal Force
3) Assault 4) None of the above

YaieT SART AT TTAR IMUTRA 9€ & 0 FeT I forgr.

(ftw. - fpa™ oM 3TsUd)

A TR AAPIRIST G WA § AT GO hell IR, W Fed A hoted
MBSARIRIAIR T 09320 IT AT A& 8o AT AqPATID! Dhaes 37e ATB!
Ireqdd AT STl ST UIgdae 3MTe. edT gHT o SAMT ST Ade=ai! Td §eb @I 93 3ieh!
3MUR SHHTepTe STTeelel T8l O ATURIT afd IGUIR 31T

R IR AT hal 3.2 FOR 3 IS 3.¢ §OIR IG FaHUId AT ST ATH=IT
Qg T I WR A Sl S ¢ hgdR 2098 RASHT Uil g6 qgd AT ISR IRY
SATedl.

[T fIRIRATH T 09320 AIA! ALHBANT 2.94,000 PIC AT & B ADPUR
ATEl. 3fErel. 9, 09 WA IRFM 2.33,4009 DT U 83 Teh BT T Dall AT

YR FiGult, IG TR A HH I e ad AU JATCS fhaee Y-
Aol Ies AT ATl Tl Hedel Jg — I FaeT Pl HAeRH e oot 31T,

feiaR o AT, Tfiet o STet 3MfYT SR O AlcgeR AT BleTaelid a1 AT Ahs gATaR g
3. UfRedT BRITaa! 209¢ o A1 209R SRRIM STA®URT 0.3 SeTel AT B.98,04Y
PICT UTH STl ST 8T YISl 209% o ot 209R SRR e Y. FATE AP TRUl
©.99,¢8Y DI TIaRT PRuaTd 31rel. foR=T g TR 33.3 SU1E AT 3.€, 00 PIST
faaRa eRuaTd arret.

I JATHSARMN Prel (P PRU e, SR U] TN 9o, ST DA aTH
ST TR GRRT §HT hefcs YR GeTal JATMOT fORART BHT chals 33.3 STl Qciep=gi-Te el fosretl

Pl FTeTT GET Pleraeiic 3faT dhetell IeaH &l Ufgelrd gHT HIF DRl Bl AIGUT IRRT
et gt st Ufie-Siet, 209% SRR Aleuft detedt MM oMY fiwsTeled AadmrTal HoH
Tt Jel ST, e UfgedT ExATdiel Qs arHTelf HedT Hilelett fowd.
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A HAGR TeICYe € Fded el 312 i, TPl el 9o qarael JTuehl 9 qereel
QITHITT eBH VAT 3Tl 3Te. FAGT HAIGR SEATATIAR arreff F=m 1, 91, 82,%4R Tae! 31T.
TRUIST JATORET €% STl AT} AR ATl @ A

T HPSARITAR IT ASTHY IR 209¢ T HE 09R TRIM 33.3 SAAE ATHIT alTH
ST Mg, T o 86 fATel 3ied. UGt 2Y.% Suatel (UNeT—ot SRIM) I 99 Sactel
(3MRE—IgaR XRIM) gIetel Aaat AR amareff @ amrdie.

IT ARPSARITAR IT IFHL fSHaR 209¢ T ATE 209% TR 33.3 ST ATDIT alTH
ST 3R, AT o g f@lel o, STuRdl 4.} uad (VDA-Slot SX9IM) d 99 Sercte
(SRE-IGeR SRIM) 3R SR ATt afesd I,

IS JPHTUTIAR ST D1 JfgedT TOTd o AIGUTT et 31T, T TRHTART
STATRIT T g6 feTel JTed. TR ST SE=T TN iUl el 318, M QF gd fHasrel
SRAUR, PRYT AT ISFciel o gderel g,

Read the following passage and answer the questions 16 to 20.
Hurdies in PM - Kisan Scheme.

The Modi government's cash-for-farmers programme has been able to benefit only half of the 140
million farmers targeted in 2019-20 due to implementation hurdles, according to figures presented in
Parliament. The next disbursal, now due, is likely to lave out those who have not been able to link their
bank accounts with Aadhaar, the universal 12-digit biometric identity number.

Under PM-KISAN, the government provides income support of Rs.6,000 a year to farmers with
a valid enrolment, paid in three equal cash transfer of Rs.2,000 - one every four months. It was launched
on 24 February 2019, when the first instalment was paid.

At the current rate of expansion, the government is unlikely to spend the entire Rs.75,000 crore
budgeted for 2019-20. As on October 21, 2019, the government has spent Rs.32,577 crore, or 43%
of this.

Aadhaar-based enrolment and cash transfers, slow internet connections in many rural centres and
messy land records have slowed the programme, the farm ministry told a parliamentary panel this
month.

Cash transfers under the programme take place every four months : December to March, April
to July and August to November. In the first instalment period (December 2018 to March 2019),
nearly 70.2 million farmers received a total of Rs.14,055 crore. In the second tranche (April to July
2019), only 59.2 million were paid a total amount of Rs.11,845 crore. The third instalment saw 33.3
million farmers benefiting, with a payout of Rs.6,677 crore.

There's a reason those numbers look out of place. After all, if 70.2 million farmers received the
first instalment, why did only 59.2 receive a second instalment and only 33.3 million a third ? The
agriculture ministry counts the first tranche paid to a farmer, even if it was paid for the second period
due to late enrolment, as the 'first instalment paid'. This means even if a f armer enrolled in the second
period (April to July 2019) and got his instalment for this priod as his first ever cash transfer, he will be
counted among those receiving the first instalment (December 2018 to March 2019). This inflates the
total number of farmers, as shown above.

In all, of the targeted 140 million farmers, nearly 71 million farmers have so far received the
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payouts, as the ministry noted before the parliamentary panel. "I would like to make it clear that the
total number of farmers who have got the benefit is right now 7,17,42,959", a ministry official said in the
report to Parliament.

That leave another 69 million to be targeted by March. Based on these, 33.3 million farmers
benefited from the scheme between December 2018 and March 2019 (they have received three
instalments), with an additional 25.9 million benefited from it between April and July (they have re-
ceived two), and an additional 11 between August and November (they have received only one).

According to the scheme's design, farmers registered for the scheme in the first stage would have
received all three instalments released so far since the start of scheme. Farmers who registered during
the second period would not have receives the first instalment but would have received the next two,
because the benefits are not retrospective.

9g) o). . - fPAM ToHEEd fSiaR 09¢ T HF 09R AT Ul gwdTd Addh=ai=T
U JYIT APs EﬂﬂiCNUI PRUYId 3T|F‘T :
9) 3.98,044 Bl Q) .99,¢8Y Bt
3) 3.5,500 PIT 8) .94,000 PIct

16) In the first instalment of the PM-Kisan scheme btweeen December 2018 to March 2019, cash
transfer to farmers was worth rupees :

1) Rs. 14,055 cr. 2)Rs.11,845cr.
3)Rs.6,677 cr. 4) Rs.75,000 cr.

q9) R IAATT S Deled] IoraT & g & 3T -
a) APl IMYR Aiguft

b) IIHIT STTC JfauT R,

¢) AP IUF TR AUl

d) SIftFr A sm@meR FRo.

Tt SR
9) (a) Bh ) (a) 31T (b) Heh
3) (c) Beh ®) (c) 3T (d) Heh

17)  The purpose of the scheme mentioned in the passage is :
a) Aadhaar registration of farmers.
b) Provision of internet to farmers.
¢) Raisingincome level of farmers.
d) Update of land records.

Answer Options :
1) (a) only 2) (a) and (b) only
3)(c) only 4) (c) and (d) only

9¢) Erefler faum faaRa &
a) UL.ug. - M Aemsidid Aad=aiT e Hed %€, 000 (37eRT TUY Hel B9IR) JTH
feeft S
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b) & Hed eewH el S,

Tt SR :

q) (a) Beh SRR 32 ?) (b) Feh SRIR 3R

3) (a)  (b) STVl I e 8) () T (b) el TR e
18) Consider the following statements :

a) Under PM-kisan, the government provides income support of Rs.6,000 in a year.

b) Thisincome supportis released in instalments.

Answer Options :

1) (a) only is correct 2) (b) only is correct

3) (a) and (b) both are incorrect 4) (a) and (b) both are correct
R) Eefler faur foamid =i :

a) WU, - fHAM IS SiHeEsTavia Jerd It .

b) STUR - 3T (SH) 3ifieRg Seult THTEIur ol TRefd 31T

Tt IR :

9) (a) Heh IR 32 ?) (b) Hth TSR 3R

3) (a) T (b) AN TP IMMed 8) (2) T (b) SIe RIeR 3
19)  Consider the following statements :

a) PM-Kisan's implementation has basic lacunae.

b) Effective linking of Aadhaar-land records is needed.

Answer Options :

1) (a) only is correct 2) (b) only is correct

3) (a) and (b) both are incorrect 4) (a) and (b) both are correct
) H.uq. - M TN AT § 3T 3R -

a) SMYUR R JMUTRT Aigul)

b) IR SHH 3ifierg

¢) ST ST e

Tt IR :

9) (a) I (b) Beh R) (b) T (c) Bh

3) (@9 (c) Bch ) aRiel |qd
20) PM-KISAN Scheme has these implementation hurdles :

a) Aadhaar based registration
b) Incomplete land records
¢) Inadequate internet connectivity

Answer Options :
1) (a) and (b) only 2) (b) and (c) only
3) (a) and (c) only 4) All of these
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Jeiel SART AT TER YT 9 T 4 U7 IR 2.
Hifcres SR

YT TN ST FIHTT AERAH YedieRicl TocdTehsUl Shiedl T Tes
TR it AR ST AT, ToCTRYr deT ¥ Yelel HIGRUIM gRadel .
p_ GmMe
RZ
Y G U dfege Tocarepyul RIS, m U UGTATe S, Me U JoaTe awgi
3TIOT R 0TSt Geaftea haaRgy Yeriwias 3icR. &1 fAeeivurgaR geaiyiac fhum=in Swigieredd
T R e I ST e R eterel a9 SIR) gITd. SIEd der (9499-9g30) I
gt gaIed! fthrugrear fFRaviae St Jg—Tdierad o9 W iYyT Pieel, a9 et o
foreaT SuwgiEEd sl oR d WAyl <ot e
() |d IIE GeATHIG ATIGRIPR Had T AT g AT Adageredn Tl hareft geat
3.
(1) g gAIac fRRamT Iuug Mt gedia chew™ T SIISUIRT 31el a1 pHarefiel aHar
THIST IR Pl
(1) PIUIE SR 3Maa-dhreral (IRYHU HreArar) aif & e dperean ef-Sraterman
(HTE —3TRTAT) TTAT FHYHT0NT 1Al

YT JSHNTSa el SRS TOME) THcaTehyUl §c ¢ 3iqhel [RR HTel STl Tl
R =Re + h, I Re FgUT Gl 3521, h g0l geafi=aT JEHTIURTT a¥fd 3icR, TR TRcaThyul
ECRCRCEE
F = GmMe
(Re +h?)

2 aier F = -OmMe o avar aR¥el Sl h<<Re.
RZ

2 FRR I g0l mg 3% 3. I g FgUl Joh U @ul.
(319 : AT @YY RR1® : G = 6.67 x 107" N.m¥kg? , JedTd aFAM : Me = 5.98
x 10%*kg 3MTfOr geefi=t 31 : Re = 6.37 x 10°m)

Read the following passage and answer the questions from 21 to 25.

Physics Passages

The general motion of a massive object under the influence of the Earth's gravitational force can
be solved in closed form using Newton's second law. The gravitational force is given by :

F= GmMe
R2
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Where G is the universal gravitational constant, m is the mass of the object, Me is the mass of the
Earth and R is the distance of the object from the center of the Earth. One result of this analysis is that
Kepler's laws can be derived for satellites orbiting the Earth. These three laws were originally discov-
ered by Johannes Kepler (1571-1630) based on observations of the motion of the planets about the
Sun.

They are as follows :

(I)  Allsatellites move in elliptical orbits with the Earth at one focus.

(ID  Aline that connects a satellite to the center of the Earth sweeps out equal areas in equal times.

(IIT) ' The square of the period of any satellite is proportional to the cube of the semimajor axis of its
orbit.

For objects near the surface of the Earth, a great simplification in the mathematics occurs by
approximating the gravitational force to be a constant. Let R =Re + h, where Re is the radius of the
Earth, h is distance of the object from earth surface. The gravitational force can now be written as :

F = — GmMe

(Re +h?)
GmMe
R2
to mg, where g is defined to be the free-fall acceleration.
(Note : G-6.67 ... 10-11 N.m2/kg2. The mass of the Earth is Me = 5.98 x 1024 kg and its

radius is Re =6.37 x 106m)

Which is approximately equal to when h<<Re. This constant force is usually set equal

%) WGl DU UGIaet & [ @R g Ugrfe gedieaT qSHNTaRTe ST JrdT Haer
geifad ?
1) G(Re +h) ?) 2G(Re +h)? 3)—GMe g) —(Me
(Re +h) (Re + h)?
21)  Which of the following expressions shows how the acceleration due to gravity depends on the

height of an object above the surface of the Earth ?

1) G(Re +h) 2) 2G(Re + h)? 3) _GMe _ 1) GMe
(Re +h) (Re + h)?

Q) AR FEURIT m = GmMe (1/Re - 1/R) STFIT JTRTER ... SAGIT IRATATT T SATUSTOTAT
TREF BIUIIST ARMORT ol ... Sl M. TR &N TN gl Tocarhyul
oI qufe: FRIcTaraTet dHid ot fobclt o e w2

172 172

9) ( 2 GM ) ?) ( 2 GMe ) 3) 2gh)” 8) (2 mGRe)'"?
Re Re
22) The amount of energy needed to move a rocket having mas m from the surface of the Earth to a
distance R from the Earth's center is E=GmMe (1/Re - 1/R). What is the minimum velocity, the

rocket must have in order to competely escape the Earth's gravitational field ?
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172 172

1 ( 2 GM ) 2) ( 2 GMe ) 3) (2 gh)'? 4) (2 mGRe)"2
Re Re

23) YA HoURI R AT IAARTER Uh IWE MeATbR Hald [hd 3N, SWE ¢ AT DI
foRRATT et SR &5 A = R%)/2 318, PedRed] §4a1 FEHER 3™ e g &,
SUUETAT 20 PFTZADBT SATVARIS! ANTRT I
q) ¢ DI ST G I ART.

R) ¢ PHIT SIogTe 314t I AR,
3) ¢ PIFIIT SITUATT d¥edT aigadl des aATia.
8) ¢ PIFIIT STUIT FABIE FHH A AT,

23) Consider a satellite in circular orbit around the Earth at a distance R from the Earth's center. The
area that the satellite sweeps out as it moves through an angle ¢ is given by A =R?¢/2 Kepler's
second law implies that the time that it takes for the satellite to move through 2¢ is :

1) double the time that it takes to move through 0.

2) half the time that it takes to move through ¢.

3) the square of the time that it take to move through ¢.
4) equal to the time that it takes to move through ¢

:28) ccf?fﬂa:ﬂ' cJ})C‘ILINj;i R Sdqdl SRR m LART RFGHMTT Uh SUIE TTeATDRR PhéfHE fRa
3. SR R B 3R ¢ USH dradel, TR T PHerdT aciapled :

9) ISR &t R) ¥ UM A
3) ¢ 9N gl ¥) €8 IS dredd

24)  Asatellite of mass m is in circular orbit around the Earth at a distance R from the Earth's center.
If R is increased by a factor of 4, then the period of the orbit will be.

1) unchanged 2) increased by a factor of 4
3) increased by a factor of 8 4) increased by a factor of 64

RY) AR UG GF SR qRgHMTE T Wlef! cldhel. TRc@mpy e @ fRR 318 3/
FHTel, TR SUURITeAT HIfAATIAR Glval 168 G JEHNTER UehTd dobd 3TGadIal. Ui SR
IRID e Tald eRel R
‘1) ST IRGHTT 3 etedT 3T URAH Tqedd.

) T T SRl Mol T NS
3) QA MS THTE B Sl
¢) Tl BIEET ATal, BRI TR g FRR a1 Sigivrd dheanfiary Arsfadr JomR
AT
Y4) Two balls of unequal mass are dropped from the same height. If the gravitational force is as-

sumed to be constant, then the theory predicts that they will hit the Earth's surface at the same
time. If the actual force is used instead, then the theory predicts :
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1) thatthe ball with the larger mass will hit first.

2) thatthe ball with smaller mass will hit first.

3) thatthey will hit at the same time.

4) nothing, since the equation of motion cannot be solved without the constant force approxi-

mation.

YEIeT SART AT TR IMUTRE Wiefter T2 HHAID € o 30 A= S .

Tl gEe AT, STKECY, CRSIhIscy JrTgTElst T Srgadistt & e
THIAYT Sl AT & BRAGe 3Rfetell, TEll, T 37 T@d: JIR PRURT 3710 Sgciehd e
TTOAT STIUTRY G-t SR, &l SR STAUITIT FeATRIR AT RN 8 IUIAT STeHDRIGHR
A @ Terd affaRer g, SR dl, FARIEEE, hahe St Bew. daremeia
GG @ 9gdehdasl dTEIges] favgees, 3feifiies & fifdesprear fIsiges o <iffies &
fafaer vpRa e o TR fohar fafaer smeRm erem@r JMTfAe SRIdT.

STATRISCY], & avucl ATCHE ST 9, TR il JTocdeATITS! i UTudTeR 3aeiad
3R, &N i SRR g QaTIiel 3iftep faepRia o/ id. g iauMIo Iue 3rar I ST
SRS © HINT 3MOT foreaates] &l Qi eid famTetet SRIdTG. fofeaRaie] I IRR g LieRaymor
UC dRUIR . TR AN ¢ IH JRUIR, 305 WIEER 3Mad UEadH JIQu=aT JHid 3R,
SRARISSY, d T 3 g THeH IR IRUIR 3R, gUT Tl THCIhEC 3RT FgUIdd. TaR
3FATSIT g TN T ST sREMFST g BifeRT SRAd. o 371for St st i FIIT 2o ARl
TR 8. o WRIBTSS AE™ 3d Uit 3 TUR Rd. d gellgs o gIR HRald. St URd
THCIhISeq, H&Y 3igRia Bla.

CYSIhISeR] 78 & eRR g WRIGRICD 3. S 46, WIS 30T UHid f[aHmTetel 3.
T Fd I qUi a6 Hletel I SR, FRIBRCH, aR ol TR BROTRN RIS
3RTATd. ST €78, 3o ST SigRIa Bl I TNCIhsed, IR BIdd. &1 THShEey &)
oY foTT- SIS ST BHfeRT— SRS aTedr. T2 ot g1 UToarT AT STRTIF3TER
AT AT FIANT SARAIE TIR . g FRANC G:99 TRIBIees, T AgRId 8.

STGTEISIT & RO 378 (3Negdl) & DIVATE! ThRT MARUTHEY Ffow .
FARMERUFR TR ORI &5l 8 3FIga 3Rard, FeU T 3G SR g /gl
TEUTATe. 8 iR creat SARIhIeR 78 arferged ot anfor Aich dior & arepy HRIpRA R
ST FRARTIAT HE TR BT, & GEIRIhI, ST AIST FARIBIeR] WISTaR STacTsHTor
JFelel JRAAT. STt 3FIshH JoN 21 3TT0T Bt 9 TR PRalld. URNTDUT PRI & GOy &iel
g WIHSHYT SfSTaR Aigel . 91 e S disieft FanT g9 $Ilie JaR 8. ST

g T R 3iege © NI sigRal.

Read the following passage and answer the questions 26 to 30 :
Plant kingdom includes algae, bryophytes, pteridophytes, gymnosperms and angiosperms. Algae
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are chblorophyll-bearing simple, thalloid, autotrophic and largely aquatic organisms. Depending on the
type of pigment possessed and type of stored food, algae are classified into three classes, namely
chlorophyceae, Phaeophycease and Rhodophyceae. Algae usually reproduce vegetatively by frag-
mentation, asexually by formation of different types of spores and sexually by formation of gametes
which may show isogamy, anisogamy or oogamy.

Bryophytes are plants which can live in soil but are dependent on water for sexual reproduction.
Their plant body is more differentiated than that of algae. It is thallus-like and prostrate or erect and
attached to the substratum by rhizoids. They possess root-like, leaf-like and stem-like structures. The
bryophytes are divided into liverworts and mosses. The plant body of liverworts is thalloid and dor-
siventral whereas mosses have upright, slender axes bearing spirally arranged leaves. The main plant
body of a bryophyte is gamete-producing and is called a gametophyte. It bears the male sex organs call
antheridia and female sex organs calle archegonia. The male and female gametes produced fuse to form
zygote which produces a multicellular body called a sporophyte. It produces haploid spores. The
spores germinate to form gametophytes.

In pteridophytes the main plant is a sporophyte which is differentiated into true root, stem and
leaves. These organs possess well-differentiated vascular tissues. The sporophytes bear sporangia
which produce spores. The spores germinate to form gametophytes which require cool, damp. Places
to grow. The gametophytes bear male and female sex organs called antheridia and archegonia, respec-
tively. Water is required for transfer of male gametes to archegonium where zygote is formed after
fertilisation. The zygote produces a sporophyte.

The gymnosperms are the plants in which ovules are not enclosed by any ovary wall. After
fertilisation the seeds remain exposed and therefore these plants are called naked-seeded plants. The
gymnosperms produce microspores and megaspores which are produced in microsporangia and me-
gasporangia borne on the sporophylls. The sporophylls - microsporophylls and megasporophylls - are
arranged spirally on axis to form male and female cones, respectively. The pollen grain germinates and
pollen tube releases the male gamete into the ovule, where it fuses with the egg cell in archegonia.
Following fertilisation, the zygote develops into embryo and the ovules into seeds

R€) BRA 5 Wielicrdhl HIvT aavachived ey Jard ?
a) 9d®
b) SIS

) TISIHhIEEH
d) SFEd Ut TIe

ERIDIECEEE

9) B (a) ?) (a) 3T (b)

3) (¢) 3T (d) 8) (a), (b), (c) 3T (d)
26) Chlorophyll pigment is present in which of the following plants ?

a) Algae

b) Bryophytes
c) pteridophytes
d) Gymnosperms
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Answer Options :

1) (a) only 2) (a) and (b)
3) (¢) and (d) 4) (a), (b), (c) and (d)
R9) &N IR qUf a1e STetel I [T IR AR ST AT
q) Sares ?) TBEE
3) SFIgT STy aeR 8) SRt Thgl TTE
27) Plants having well differentiated vascular bundles; but lacking proper seeds are .............. .
1)Algae 2) Bryophytes
3) Gymnosperms 4) None of the avive
) FRHSEH T ElsS S0 oo MY TR Bard
9) M@ Ui TRIBEE ) 3M® Ul THeIhEes
3) T Ui MeIBEey ) T ofid TRIhEey
28) Inbryophyta, haploid spores are produced in .............
1) Multicellular sporophyte 2) Multicelluar gametophyte
3) Unicellular gametophyte 4) Unicelluar sporophyte
R) T T B ST IRIdAd! IRIATT IO AT 3Feh TRt gD MGesdd.
a) R AU quiIur SRR 3.
b) T fAuFThe gafd ReR 3.
¢) R U quitl B IR,
d) R e yaie 9o a1,
ERIDIECEEE
9) Bh (a) ?) (a) 3T (b) 3) Wb (d) 8) (b) 30T (c)
29) Algaeis dependant upon other living organisms for their food and they have various pigments in
them.
a) The above statement is completely correct
b) The former half of the above statement is correct
¢) The above statement is completely wrong
d) The former half of the above statement is wrong.
Answer Options :
1) Only (a) 2) (a) and (b) 3) Only (d) 4) (b) and (c)
30) SMgA fVURY avuchined ardged ST ... MY IR g

9) ATRARFSIST S FERARITheTaR ared
R) AT RARTISHA S JEARIRITthaler aTed
3) WIARMSIRT o FARIftherdR arad
¥) ARIPIIRMSIST & RIRIftheter dTed
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30) Ingymnosperms, microspores are producedin ..............
1) Megasporangium borne on Microsporophyll
2) Microsporangium borne on Microsporophyll
3) Megasporangium borne on Megasporophyll
4) Microsporangium borne on Megasporophyll

YaieT SART T TTAR TR 39 T 3Y HeAT IR & :

STegT HSUTuit SIAHIER IS TIegT ATl SRIVIR SHaTu] QTeR 3TTHHUT AT STT0T iSaTudTe et
geHid TRUAHT IUGeh AT DU PRATT. IIIAT FaR o 3T RIGR AT EdTd.
RATSUTUATS SAUIR ifodr ggref wifdies STfor A-GRIfeh SHao] gR SFuadia gidrd, Wy SIHETehd
IR Wifeeh 3Tqere fohaT 31t BRIGHR SAd. WIfdd STECARIG! a9 SRAURT TfaaoT
g1 SIfte fafdy eRmed Iueted STId. JTECAHR TR BIVRT GESRISTRITSS & SIiHTng
ARV {1 STl @ T ISeTd TdTeaRuNel 3ffaastd 2 Sdetl STral. & aiffaast amfr
UfhaTe BId. Sicgl [Tl SRR Tlbel ST degl Jifavise IRTRIFG Ufshal & gl
I ATSUUITA A AT Tedhiad ST STaTo] STfaRISe B_drd. MU @ g Hifdd
fafdy eRm Hhid gid, degr A fafdy oo it exmia ger fogme sredhqy odel
ST, FAR GReIT g1 AL Wifeies SaTu] & JAifaTserd H=ard. g Hife ufshar g
ST TR Sfeei SR, IRY Ao, PSR, Fg STAHED &l o0 ufcha fferp ITH
3T FHTUTBRD 3. ST 3707 Ryehe ATl & Mol TRHIATST HRef SWIh T R TSHID
SIfE & Mt wfhaTer qutd: FReuanh SR,

ATSUTOIAHE] UTugTe Y0 QU SR 3T o g Tfha=adl amRel ST, ArsuToamed
TGS, TR, Hivhed ST Ao 3l STfS ST, FeUd Td UINUMed STR 3R,
T GCHHd ASUTIITET IR SR I 2T AIGTS! R B Sepdd. ITard 31l ATSUTodTes
S 9V dTed @ forl gl GURd!. Fe) SR Dok U e @ iHeH M
SRAVTIT ATSUTUITEA] FHTOMER AT offer FenRa o,

Read the following passage and answer the questions from 31 to 35.

When sewage is dropped on land, the bacteria present in the soil attack on it and convert the
content of sewage into plant food. The latter gets utilized by the roots of the plants or crops. The
organic matter present in sewage undergoes decomposition by aerobic and non-aerobic bacteria, but
itis profitable to provide aerobic conditions for the disposal of sewage by land treatment. The oxygen
that is required for aerobic decomposition, is present in different layers of the soil. The CO2 produced
as aresult of decomposition is given by the soils and in turn, atmospheric oxygen is absorbed. This
interchange of oxygen and carbon dioxide take place by wind movements, difference is temperature
and pressure, drainage of soils and many other processes. When sewage is applied on land, the chemi-
cal process of oxidation takes place in which organic matter of the sewage is oxidised by bacteria.
Filtration is the principal physical action that is involved in the purfication of sewage by land treatment.
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Sewage as it passes through the layers of the soils gives out suspended particles which are reatined by
the voids of the soil. In presence of sufficient aceration, these particles are oxidised by aerobic bacteria.
This physical actkion mainly depends on the nature of the soil. Most suitable and staisfactory filtration
takes place in porous, loamy or sandy soils. The heavy soils such as clay are not very suitable for
filtration, while rocky soils are most unsuitable for filtration.

The major portion present in sewage is water, and it can be used for irrigation. Sewage also
contains nitrogen, potash, phosphate, organic acids etc and so it has a good fertilizer value, because
these constituents present in sewage can be directly used by the plants for their growth. IN this way,
sewage increase the fertility of the soils and also improves the conditoin of the soil. The type of crop that
can be grown, mainly depends on the quality of sewage and health regulations concerning the use of

sewage on crops.

39) ASUTTHR U WM HURK ... qa gl
a) s wfshar
b) IR fohar
c) DR SHNGAES

d) ey

Tt SR
9) (a), (c) ?) (b), (¢)
3) (b), (d) 8) (b), (c), (d)

31) The sewage is converted into plant food by :
a) Physical action
b) Chemical action
¢) Carbondioxide

d) Bacteria

Answer Options :

1) (a), (¢) 2) (b), ()

3) (b), (d) 4) (b), (¢), (d)

3?) Wi Pl faerm s/gd smed 2
a) T g Wifde fopar ame
b) HHE TR FTAAT ISt IR Hle- SRISNATSS sRIsRd! g
AR Jacigd 3R
c) reUToR, SR Fiuear aredd
d) AfcT ygrui™ sged g Wifdd fhar AMwIfeed STamgR 8.

g IR :
9) Hh (a) 31T (¢) Q) Wk (a) 3T (d)
3) Weh (b) 30T (d) 8) (a), (c) 30T (d)

32) The correct statements from the following are :
a) Filtration is a physical action.
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b) Theinterchange of oxygen produced in soil and atmospheric carbon dioxide is temperature
dependent.

c) Sewage increases the fertility of soil.

d) Decomposition of organic matter by bacteria could be aerobic or non-aerobic.

Answer Optoins :

1) Only (a) and (c) 2) Only (a) and (d)
3) Only (b) and (d) 4) (a), (c) and (d)
33) Weiletdeh! DU AL T AT A

33)

a) SHATEAT ARIGD AUES, Rifdd JTESAUE HUM el ST g,
b) TRY AR M fHT W et S g

c) HIId 3RAetel Jfed AT Al GfUehd PHH PR,

d) TSPHIB A, MU HioRIT MO TGRS T IuTh ATal
ERIDIECEEE

) Beh (b) AT (c) R) Weh (c) SATMOT (d)

3) (a), (b), (c) 8) (b), (c), (d)

Which of the following are incorrect statements ?

a) A non-aerobic decomposition is not preferred over an aerobic decomposition by bacteria.
b) Porous soil is not preferred for filtration.

¢) Organic acids present in soil decrease the fertility of soil.

d) Rocky soils are unsuitable for filtration and non-aerobic decomposition.
Answer Options :

1) Only (b) and (c) 2) Only (c) and (d)

3) (a), (b), (¢) 4) (b), (¢), (d)

39)

34)

ATSUTOATT STAT] AT gl WIfddh ST Uihdd ...

a) JNATD IR SIS g AR ARV Belell ST

b) TIR ST P SRSNTAZSH! ASATEG TRV Mo SRS 8l
¢) AT fAfde eRIT Iuctsy 3RTciell Pie- SIS aTaRal STdl.
gl I :

q) (a) 37 (b) ?) (b)

3) (b) T (c) %) aIeTiH PIorEl el

During the aerobic decomposition of sewage, by bacteria ..............

a) therequired oxygen is directly taken from the atmosphere

b) the produced carbon dioxide is interchanged with the atmospheric oxygen
c) thecarbon dioxide present in different layers of soil is used.

Answer Options :
1) (a) and (b) 2) (b)
3) (b) and (c) 4) None of the above
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34) ASUTTEIMR T R L &ITa /EITaT 3R

i SR :
9) (a) 30T (d) R) (b) 3T (d)
3) (¢) 3T (d) 8) (d)
35) The major portion os sewage is made up of :
a)  Organic matter
b) Nitrogen
c) Particulate matter
d) Water
Answer Options :
1) (a) and (d) 2) (b) and (d)
3) (c)and (d) 4) (d)

YGIeT SART AT TR ATUTRE 3€ T Yo W= ST & -

RISTh1 fRreror TRurst ATfEigul @ STaeeR AFRe FH0T ol g1 SA1fr Sermear ATTh—
e SfeErea aRydawrdt Tl wasfa wewrt guarh aneadh ot 2. faemm aRaRes,
TR, Sl SMfoT fasHdTard) FHTSTreaT Vast dllepdiize, gHfFRUEr 3Tl JHrSTaTs) JHT
it =or @ IR Friee a=ol, € IRAde A -aniie Sfer o,

fofeer e wTeId PRN A 3R TgUOr I i, IeThig e g e Agwrd i
3T 31TR. Rreror AfoT JSTpRYT A 0T B A, & fafeer gfiepivRy wfieRua T TR
fSET. TRQ 98 AL SIcgT PR A FAHL ATel degl ! fSfcer YRumET A1 WfBR el T
U ARl I, ISTPRUTGR &M 31gg P T, JSTehy U1 RIemuiRgy R @’ 3™
STTATE PRUITT ATel. WX IT Vasil {180 e e o1l geaRid! gl gia ett, fereres oy
feremeff e 79 & Hg PIfEST PRUATBRAT JASThIY TerHed WYt oo FAlell. FEgHM fraor e
ST RALTTRIAR ISTehid Fedrar uifdaT ga1 gidl. IRdamed B UH Hlel, TR T
RISTh 1Y EERIEUIAE e g JISTh I UTfST. ST UG Saifireh siaveid g 316 2,
BT I, PIUIE, PIOTeTTR! Ty freror fiyes 1. 37for 1y anian |anfior faer cgrar. g
ISP d19 3N Y, IS ISThIT fATT 7 (TR Fgurt, ArHTiTes IRacra siefierdhr fmfor
RO FTYI PNl efforep @raeeiciier fremmien dHgpaa goiid oel 37Te.

ThrIacs!, TG |Gk T HuaT STfdr et e Sum= Aicen sFtEaRIE
RT GG IS ST, JAUH, FAR AT Dral 372 ISTehRy fR1emr UG dhel R o Hefar
YOO IYINT 6 Aehel ATal MUY (2T FRadaem Toddt s TaR Jd<d fiiesq aTehel ATgl.
ST AT TT&T BRI PROMAT FRAT, HESH], TAThg ISThig {1801 T ol e
BIchl, TIERISR J&aTaael 8 Fgurr afr] Ied.

MPSC IISTaT gg U1 : 2039 Jd TRier -2 / 33




AR BISTHER 30T &R ST e UgH PxUGMHED Wt d Ahell ATgl Icic
AT USall, 3R gl at gXehd Aral. Iergrunef, fremr egever &) 31fties ®u 1o e
STC MR, SRhT & dfdelt SHTT aell oM. ARPR SR Thd 3Rd TR Tell RRIEG daai,
TaieR MR Ry axvare &= el smuearen o, < gy gar 6, Ay vaeg
TS HE@Td 3MTg 3Nfor TR wefiefter enfor wuda awvara ot @it farsfier. omer s
AT MR RRdg ued™ ORIy aRugrl &R THael g, Afherel, SgRae! fohar gar
GRS 3AMQle, IFBATI ISTHRU HRU AT 99 STl Mg, 3fTora ey eawer &
TfEia e geRaTar |Fad e Sd 31Te AT JRAMT UTesla Il Sad 31Te. qREMT T
TR PRI FRIE0T SUIR AT UTehel SRS STIvT Igerd ATel drdd g aRfRI I8auiR el
31T AIGaT SHaifores YR TR Mg AT SR & FUR Slelt Al R o= R
faerT aRIT Paw X g gect Sit Paes oK o dmal U TIfcar qget STfor e
AR IRAdHT 3rSeURT BRet.

Read the following Passage and answer the questions from 36 to 40.

Political education may be defined as the preparation of a citizen to take well informed, respon-
sible and sustained action for participation in the national struggle for the relization of the socio-eco-
nomic objectives of the country. The overriding socio-economic objectives in India are the abolition of
poverty and the creation of a modern democratic, secular and socialist society in place of the present
traditional, feudal, hierarchical and inegalitarian one.

Under British rule, the Congress leaders argued that political educatin was an important part of
education and refused to accept the official view that education and politics should not be mixed with
one another. But when they came to power in 1947, they almost adopted the British policy and began
to talk of education being defiled by politics. 'Hands off education’ was the call to political parties. But
inspite of it, political infiltration into the educational system has greatly increased in the sense that differ-
ent political parties vie with each other to capture the minds of teacher and students. The wise acade-
micians wanted political support, without political interference. What we have actually received is infi-
nite political interference with little genuine political support. This interference with the educational
system by political parties for their own ulterior motives is no political education at all; and with the all-
round growth of elitism, it is hardly a matter for suprise that real political education within the school
system (which really means the creation of a commitment to social transformation) has been even
weaker than in the pre-independence period.

At the same time, the freedom struggle came to an end and the major non-formal agency of
political education disappeared. The press could and did provide some political education. But it did
not utilize the opportunity to the full and the stranglehold of vested interests continued to dominate it.
The same can be said of political parties as well as of other institutions and agencies outside the school
system which can be expected to provide political education. Most things considered, it appears that
we have made no progress in genuine political education in the post independence period and have
even sided back in some respects. For instance, the education system has gave us the courage to
oppose the government when it was wrong, in a disciplined fashion and based on principles. He be-
lieved the means to be as important as the ends and taught us to work among the poor people for
mobilizing and organizing them. Today, we have even lost the courage to fight on basic Issues in a
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discipline manner because agitation and anarchic politics for individual, group or party aggrandizement
of the privileged groups and domestication of the underprivileged ones. The situation will not change
unless we take vigorous steps to provide genuine political education on an adequate scale. This is one
of the major educational reforms we need; and if it is not carried out, mere linear expansion of the
existing system of formal education will only support the status quo and hamper radical social transfor-
mation.

3g) oIy faremrer qifcy Sfew Ry 3R ?

q)  SfiSHarge waffior s Ie SO,

) FHATIA® FHST IO @R,

3) frneafned S difcs dlae TR A

g) QeI AR € /TR UISIeT IueTed] Pt QU
36) What should be the ultimate objective of political education ?

1) Tofoster all-round growth of elitism.

2) Tocreate an egalitarian society.

3) To prepare students with high intellectual acumen.
4) To provide genuine support to educational institutions.

30) WA $erfores AXRAEd ISR FeY B 8ld 7
9) T ASTHRT gILATIRIERT ISThIT q1fdsT UTe STeT.
R) I ISTHRI TRIAIRIE ISTbig UTiSaT ey erepet ATl
3) M AT ERAAURIE 3T I[SThIT UTfSET UTH ST,
Q) T ISTHIT SR 3T TR UTfSaT WTH ST,

37) How has politics been related to educational institutions after independence ?
1)  They got political support without political interference.
2) They got no political support with political interference.
3) They got mere political support with political interference.
4) They got mere political support without political interference.

3¢) faemm deifdren avdTed g FHeT PO R ?
q) <t freomen fafeer Aiear R amenRa 1.
R) ot feneatear #raR g feafaa =g
3) o o Aviiag ST fawamaTet FaeuTe ST
g) ot P ufosi adva Y 39d.
38) Which is the major problem of the present education system ?
1) Itis based on the British Model of education.
2) Itdoes notinculcate values to the students.

3) Itishighly hierarchical and Inegalitarian in nature.
4) Itperpetuates the domination of the few privileged.
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3%) WlelieTidh! PV P WX ATl ?
9) G AUHM SATBHT TR e U Had el
) ISR TEHT TR ISThIT fIE0T SUTeY o .
3) IR URAATRITST IISThIT 8o 3Tasdds 3.
¥) IoThig 8T g wfehd ATed IO AT STR.

39)  Which of the following statements is not true ?
1) Freedom struggle helped to educate people politically.
2) Political parties provide proper political education.
3) Political education is necessary for bringing about social change.
4) Political education is aim and means of individual.

o) SARITIAR IeThR fIeumea &= wered Mefie g aneH B 3g 2
9) A MRS AThRT fAUMGR Alpmed 'ISThIT ATeRadT TR Pl
) T ST gAY Hoh TSR LR R ST
3) T R UM Ut 3figle STl SMTdhe T ISTehRl f3dmfer.
) AT T IRy T et hY, 3Tt ISThR A g AU AT AT,

40) According to the passage, what is the main contribution of Mahatma Gandhi to the field of
political education ?
1) Hespread 'Political Literacy' among the people through non-formal Gandhi to the field of
political education ?
2) Heemphasized the need for keeping education free from political interference.
3) Hetaught agitation and anarchic politics in a disciplined manner.
4) He made us believe that our political end should be compatible with the means.

JaieT SRT AT WTaR TR 0. 3. 89 < 84 Jie IR forgr.

el TRARIGH PATATS! AT 38 ? AT HIaie! Ul gbges. Avpaiis Josldl,
AlHDITTT, DI dilel TSIrdl JF T fS7aT U TRIGH Alfiidelel Mg, SId o
MBS ST, ST T ATHBITINIT RIS STd, ST O ATfeea=aT ARliehs ST 371 7gurd,
AT BT P 372t TSI, ST BT v 3refl geld &t off WRIUPRI dhetell 3R SMOT
U IR TSB! USUS Ao @l AT SRITE. T S Uehdl! el SrTelt 2 37wt
T BRI ST ? R URIGIRIGHRE JTEl. A1 JEURET defiel Fmar. df IRIRET
3TET! T PRI I 1aT] O AArIRIRET 3RIaT! a1 fig 31uetr grar wgud a1 i
AT 37T hedT YTfgold. ATl FAmed Svdd MEdhR 3l a1 df IEPR Swdd foRd
] PR RG] YU ol FREPRIPS T U 3Met Tfgst. UM SEHRE IR KR
AUITHS WAfidel AR T, T A FHAGT dcfel gTfRoid.

ST YT FfhA@rT URad T8l Tal JTEPR & Mo DR 31, Tgurt al
SIS ATel. IOT ST 3MTe JATed USRI ARTe! Mg T Ak STEBR 3TTE. ST S0
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YD SE UTH STlelell 3T FTaT SIS JNEPR Mg, SAFT ST UTH $Tel T MEDR @l
ST FFREPR UTH -V g9 TebT QR Idep HIHaTed SN Sifc & a1rg. g HiaT 3.
AT ARSI 31 FgUIIT, ‘ATM Qg AT SIS’ Y=Ad<ara THCT ATH ATIUT o] Hcfetell 37T,
PR T TSI FREPR UTH Filelel 312, T @S Y@ 3d & Jdabrell UiH egrdl afeft
TTRAT STER ARSI hetl 3TTE. STIOT g TMhgH JAURET IR ANDhS AT SATa]
3TTet TTfEst. MU IR gH AT QANTDhS, A RMhgT HedH QNDS, HHhg
A" TMehs SUTad 3ol UIfes] BRUT e fhHCTET IR SR DIV RIe R Al IRl
312, 3T g I ofvl, ¢ RKg AU, AT R J&H {Hepl, T AN SiaTied JATgIel
PO fidd R E-alSeiear Feaamed e, Pod TRy fidd. g FRPR iyl Heiig
3MTBMNIUT &% Tepl. VN G2 URI ST 3T AT H 3R p=ran eft e R
Fefig 3g AT, T TN TEUN ol SR FRcllel. ¥ad: SMERT TEUNgel 99T TEUST Hof
ST, T AT FEUITIeAT 97 T80 ol a¥iciiel. W&d: URIRIGH 70T elredehgd Fgurgy &1,
SIgeT IR I 1 s 9 $9 g e |

'R | T TS AT Fshad! giefiel’ 3R ST ST el 37Te. Hell WA STURd!
el ST TR AR ARSI 2 AFATIET BRI TS Ul JiM. SR grelell g
AHTSITET Tghacl! @I JRIeT IR PRI el Ulfeel ? 'SFog FREPR’ gaitar TR el arfest
T AShel TIRIGHRIT el 3MTE.

¥9q) SIS EPRI &I DI ?
9) ad:dt 3N USRI ANTO! R) TIHGE! UTH g,
3) 3T AfchAarT aRTd /0. ¥) JHIE S g,

) JatE TN SHaed HIS TTH &l ?
9) ‘gify <@ TIRT SIBT RATERE™T A9 SIeATR
R) WRIARRST AHRI ANDs TR
3) IMSILIATAT g
8) TRFGRT HdRIRE! Wgfiem hReameR

¥3) SIEPR gut g ! IfeTserl IreaT St o ¢

a) IO MEPR i) TFg @t 3a

b) ARAITT DR i) GEIPIA faermet e=or

¢) AP PR iii) FIq:dt 3esg gefqur
d) S FPREDPR iv) SfehraTaT IR 0
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gl S :

@ m © @
q)  Gv) G G @)
)G @ Gv) )
3) @  Gv @) (i)
8) @ G @) Gv)

9Y) IARI ARG ofivfep pIuret ST AT ?
q) 3TFE U AT | R) 3T Ugfurerd
3) TARISH : A u1eT ¥) I AT Ighdd| Iu?

8Y) ARG ST g yatg At -
a) TEpIIDS TDURT i) NhHITIRITS!

b) GARIGHT AR i) MHBITOTRATST
¢) I ammor iii) IRTIRIRTR et
d) et 4 iv) AaT et
T S

@ b © @
9 v O @ )
)G @ G 6
3) O Gv G G
8) @) G @ )

Read the given passage carefully and answer the question S. No. 46 to 50 on the basis
of the content of the passage.

The richness of great books shows itself in the many levels of meaning they contain. They lend
themselves to a variety of interpretation. This does not mean they are ambiguous or that their integrity is
compromised. The different interpretations complement one another and allow the reader to discover
the unity of the work from a variety of perspectives. We need not read other books more than once to
get all that they have to say. But we can always go deeper into great books. As sources of enlightenment,
they are inexhaustible.

The interest in many good books that are written is limited to a definite period of history. They do
not exhibit the universal appeal that results from dealing with the fundamental questions which confront
men in all times and places and in a way that men in all times and places can understand. Great books,
on the contrary, transcend the provincial limits of their origin. They remain as world literature. The ones
we are sure are great, are the once men everywhere turn to again and again through the centuries.

In view of this, it is often said that great books must pass the test of time. This is quite true. But it
1s not the passage of time that makes the books great. They were great when they were written. An
enduring interest in a book merely confirms its greatness. We may consider some contemporary books
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great, but we cannot be sure. Their excellence still remains to be proved before the tribunal of the ages.

Mark Twain once remarked that "the great books are the books that everyone wishes he had
read, but no one wants to read." People wish they had read them because they are the indispensible
material of a liberal education. They shy away from reading them because these books require thought.
And thinking is hard. It is probably one of the most painful things that human beings are called upon to
do.

The great books are not easy to read. No one should expect to understand them very well on a
first reading, no even to master them fully after many readings. [ have often said that they are the books
which are over everyone's head all of the time. That is why they must be read and re-read. That is also
why they are good for us. Only the thing which are over our head can lift us up.

46) Choose the best option :
The great books ...... provincial limits.
1) consider 2) justify 3)illustrate 4) rise above

47) Choose the best option/s :
The richness of great books shows itself in the many levels of meaning they ......
1) control 2)envelop
3) prevent 4) have

48) Which of the following statements are true in the context of the given passage?

a) Great books require thought. b) Good books are world literature.

¢) Hard thinking is not painful for man. d) Great books do not have universal appeal.
e) Longlasting interest in books make them great.

1) (a) and (e) 2) (a), (b) and (c)

3)(d)and (e) 4) (b) and (d)

49) Choose the best option according to the passage :
The difference between good books and great books is that ......
a) great books are read quite often but good books are read rarely.
b) good books are read all over the world while great book are not.
c) greatbooks have universal appeal and the deal with all time basic issues related to human
beings but good books have limited time appeal.
d) great books pass the test of time but good books may not.
1) (a) and (b) 2)(c)and (d) 3)(b)and (c) 4) Only (d)

50) Choose the best options/s :
'Great books must pass the test of time.'
Which of the following statement is the closest in meaning to the above statement?
a) Great books must pass our time.
b) Great books must be considered great over a long period.
c¢) Great books must be ready to test time.
d) Great books should pass the test conducted from time to time.

1) (a) and (d) 2) (b) 3)(d) 4) (c) and (d)
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49)

51)

ot 3FQp ST BT AT 9 : 3 2 Y I FHIONG [AAUD B Th UST G Dbell. 8
AfeIMR Horg qdl Stad! e deft gl daet gral Jaaue dell. 3Telie avig e
I i A gatue et et aueReR et THITd W ol ?

9) 8 :3:4 ) &:4: 90 3)4:g: 90 ¥) 90 : Y : g
Sanjay, Ashok and Ketan started a business with their investment in the ratio 1 : 3 : 5. After 4
months, Sanjay invested the same amount as before and Ashok as well as Ketan withdrew half of

their investment. What is the ratio of their profits at the end of the year ?
1)4:3:5 2)6:5:10 3)5:6:10 4)10:5:6

43)

52)

P I ¥qfiler el 99 7 U T 33 B AT Hesaet!. AT d=oiar § 7 el SAIOT arehi
I e, feetear i FHIU™ FRuRY Pl waid agF fhad Fasr.
1) 9 )3 3) & 8) 94

A natural number Pis multiplied by 11 and 33 is added to it. This sum is divided by 9 and the

remainder is zero. Select the smallest value of P that satisfies given conditions.
D1 2)3 3)6 4)15

43)

53)

94 Y F 9 AT AAMYT qo AR AT TSI PRI Mg, Al I BHl
¢, Afgerar THEY 3riet erefl At bt TR TIR T el ?

9) 90099 ) 90090 3) 99090 8) 9980

A committee of 10 members has to be formed from 15 men and 7 women. In how many ways

can this be done when the committee consists of at least 6 women ?
1) 10011 2) 10010 3) 11010 4) 12740

4%)

54)

gt U e g fetean sy @R smutRa geref ey faer,

a) Tieh 2T]] Poaid FGHT bl fediaTeaT Haer R 9_ 2rhdTd.

b) PTE! Tell HaIeT GRIET =9l 37Ted.

¢) 9 B -IHSIRMT Tl STy FemThd M:9ew Rrapauft f&eft S,

gt SR :

9) U AqPY! P AGHT HAL GRIEAT I 3T

R) SHIIDI AT Rrpault AT SUm=T I @hl el 31Rd.

3) WUl qRIedT ST W [GRmea AT JieTRIh Aedegd areidedt ST frenauft
aia famTeees feremantt firesd,

) R foicamid Tamg! fspy Arfgchiell Famd g,

Study the following statements and select the valid conclusion based on these from given options.

a) Members of farmer's families only can appear for the agricultural university admission ex-
aminations.

b)  Some girls are appearing for admission examination.

c) All girls candidates are given free coaching for one NGO.
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Answer Options :

1) Members from every f armer's family are appearing for admission examination.

2)  All persons attending coaching class conducted by NGO are girls.

3)  Allstudents appearing for competitive examination get free coaching in classes conducted
by NGO.

4) None of the above given conclusin is relevant to information.

44) I TR PHETAT S, WichiHaR Tkt el Webelex aToRTaT oiTdl. SR df ¢
TR Feel! o) @R UIgHaTgetT foiell 29,0 Hahe SRTATd. SR ol 93 UTa=aT deet! ok e %eh
93.4 WPhe A, SR o Tahgl TR Jerdl A 8N oXdel R el a” uiRare
ATUIR Aahe gefaumRT gty faer.
9) R R) 33 3) M g) QR

55) Vini travels by monorail to work. She has to use escalator to reach the platform. It takes her 21.0
seconds to reach the top of the escalator if she runs 8 steps. If she runs 13 steps it takes only 13.5
seconds. Select the number of seconds that she would require to reach the top of escalator if she
decides not to run any step.
1)22 2)33 3)27 4)22.2

yg) GEie HIRCT TR STIfor qreft @ht fora.
7 fSepTurd fZart PIUATE T IR g QA AT Jlerard SaTdiel U AgHra A
3RTCT 3MMMOT 3 ~gHa RT3/, 31eT foaroft Im e giar. a1 f3emoft sraamT @ren
waa:d et aRteT Telel smasset! M srfirdiareaT Wiefld sfetedn 9 axhiar T
R 3MTR. TTchier Teh Ueh h! Gt a1g areft il @it 31g. Siegr T ™ 1ed faRel
gt I SR gt B,
R : %S dal 7L 2 bl TR,
S : g mt &l AL P A g ol AL
T : g # & ATEL. g DI Phel o Fell ARG T8,
i SR :
9) R ) S )T
8) feiean SIaR Q=T IRia v Juarel ARt dfdhes Tl TR

56) Study the following information and select guilty person.

Ram was visiting a place where inhabitants always answer any question with two sentences. One
ofthese is always true while other is always false. While on the visit he found that his bag has been
stolen and he suspected three persons those visited his guest room. He was sure that only one
person is guilty. When he questioned them they replied as follows :

R:Sdidnotdoit. I did notdoit.

S :Ididnotdoit. P did notdoit.

T : 1did not do it. I did not know who did it.

Answer Options :

DR 2)S 3)T
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4) There is no logical consistency in replies for making decision with respect to given conditions.

49)

Teh] GRIeh el SUTCTd AT J¥cich Sdelell 3fgd AT T Felel Y&l L, M, N, O, P @
Q ITYHTOr oI fcaaedn 3ed. M, P, N g Q T gUIT 3RTeied] JRidpia! duul Fat Ry
SART b I8 ATe 37Ted. L, M @ Q IT gUT 3Rieiat! IR a1+ 3RIT IR TxIh
ST 3T2d. L, M @ N gUIT 3ieiat! [ drIeird ok SdRd I b affgd.

PRIETEIT BT T I8 i 38 2
q) P )N 3)L 8) M

57) There are six books kept in a steel rack and are pasted with signs as L, M, N, O, P and Q. M,
P, N and Q have blue covers while others have red covers. L, M and Q are new volumes while
the rest are old volumes. L, M and N are law books while the rest are engineering books. Then
which new book of law book has a blue cover ?
P 2)N 3)L 4HM

Y¢) eIl HIGHT 9 g TThral AN 3T Yo H.HL T 34 AT IR, SigT HIGAT AT
29 UR guf grcller degT g @b fopeh U qul gicfier ?
1) Y ?) 84 3) 30 8) 3R

58) The diameters of the bigger wheel and smaller wheel of a tractor are 50 cm and 35 cm respectively.
How many revolutions will the smaller wheel make when the bigger one makes 21 revolutions ?
1)25 2)45 3)30 4) 32

4R) 'St 3Nk fFetfdeT TrelhRIATcISl 3fUs AerEifersd Al URig Selel, TRIG

AR SATOT AT AUhia BrSrl WiFsT BT aid grered fegeyurrT AredTdiel Aeda el

oY BUR T YR Ufgerd ALY Mg, AE0, TYURE, TAIhTs AEU SIS HhReT

YTEPITINTT ITUTCHTAT HILIHIT el RIGARTTIT HUBId A4 Aehd. qUTY TrRIF

g AT gE/ IR e AeuTfawfl hRa et Aifedt Suerey 3R, 'Wudidia greren

AR fquRia TR RO &HdT CRIGARTTHEY SRTTATST STacrd U fads TRINTMS It

RieT AR 3MUReler wata Ifua sy T,

9)  TOITAT gIlaR BRI CRIGANT< GRUMHETET HiR el ATfed! SUeiey 3RTelt
WS N IRENT IRIIedT IATSIT TN dTIR PRUITIR §l GTeful MTaTh IR,

R) HIME! ESiaR SHeT PIUTT YRV Bl g HIEk HedTges Sch! daTuRd 3Rfeled fafdy
AT CRIFARTTAT dT0R FRUITEE DITa!l UT§ed SURT HRUAT Maedehal
T,

3) gRIGANA SN gerAT @S o9d] JreaTdidl gy arar Y gdia gdan
SRICAT® <Ieh! ARG 3RAeiedT fAfder ITGHI G TedT JIURTER §q] HTeTul JATaTD
3.
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59)

¥) CRIFARITHEY UT0IedT gTSeaT gicax IR dRUATT SHcedT STRId UTeafard
BT RN qrEfdet I Aehl ITURT ITeied fafder IcareHia Qe aruR
PRUGTAR 1 0! ATIID TR,

The research published in the 'Journal of Clinical Endocrinology and Metabolism, is the first of its

kinds to investigate the association between the chemical triclosan, exposure with bone mineral

density and osteoporosis. A person can be exposed to triclosan via consumer products like

soaps, toothpastes, sanitizers and other such products. 'However little is known abou the

relationship between triclosan and human bone health. Laboratory studies have demonstrated

that triclosan man have potential to adversely affect the bone density in animals,' said one scientist

studying effects of triclosan.

Select the most appropriate conclusion based on above information.

1) Itis necessary to ban use of triclosan in the products listed above though very little is known
about its effect on animal bones.

2) Since exact effect of triclosan on human bone is not known, there is no need to take any
precaution about its use in different products used by human beings.

3)  Since the association between triclosan and its exposure with bone mineral density is already
investigated, it is necessary to ban its use in various products used by human beings.

4) Since some studies have demonstrated that triclosan may have potential to affect bone
density in animals, it is necessary to ban its use in various products used by humans.

§o)

60)

mifecht s oMY foream Hewia Ffeaau e sRelel fau faer.

A T &R B 31 C JFeT SR 9T 372, D 3T E Il &R B <7 &RTeAT Savell 3.
el I @R I et E <7 ] Hefel! BRI BT D =1 ERIR Ued. E I 'R C =
ERTT fegHel 3R,

9) A I @R E 1 ER1A1 Qdell 37Te. ) E T TR A T ORI ITRAT TR,

3) D ¥ ®R C T BRIAT ITRAT 3ME. ¢) C d TR A T ERTAT SfRieT aTe.

Study the informatoin and select the statement that is definitely true with respect to it.

A's house is located to the east of houses of B and C. Houses of D and E are located to the north
of B's house. In the early morning shadow of E's two storied house falls on D's house. E's house
located to the west of C's house.

1) A's house is located to the east of E's house.

2) E's house is located to the north of A's house.

3) D's house is located to the north of C's house.

4) C's house is located to the south of A's house.

&9)

61)

UehT I FHYST FPI0T fcfolRad et 3TTe. agerd &athes I Sharel Jeid
febett ue a1mg 2 i eRuRT uaf faer.

1) 3/NT ?) 31/ 3) 81/3V3 3) 3

An equilateral trangle is inscribed in a cricle. Select the option that indicates how many times is
the area of circle with respect to the area of triangle.

1)3/V7c 2)3n/4 3)4n/3d3 3)3
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£R) fouaiean wRERFAT BN HURVaHT g IURT TR HetedT TS ADIFTBRITE
g3l g1 dgM PR e g o/ SHids fielel TRGEI® PRIGR U 371l
3T G Sfea uet fHaer.

« ' 4

NN

62) Study the transparent papersheet given on the left-hand side that is folded to get triangle of small
size by folding it along dotted diagonals bisecting each other and diamond shape formed due to
these and select the most appropriate fold from the options.

« ' 4

Answer Options :

PN

£3) Rea eaftre afts JRIUO SBIge BT A ST O FIAT SRS BT St JTeg e,
AU GRIRIGUTET JRT0f & gfierear RacaTia SR 3Id @ 18l 8 Al ad:d
U AU fApudrer Ufiey PRI HRATe BRIGT I6 hall UTesl HRUl Jrear gk
31t oo JUR! IS TR B apdiiel. A 4iHd duldhgd AHT TR
S Uaue g Il dlbT f&ar ared. W a1 Pgdlell MUR SUITATS!
IS AT D BRUI 8 T Palel YR STIMIS! Fl:-d AU fqepuvargd
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63)

R e TR, PIE! BT AU e B SH=IT U IARIYU e Hefel] AT
31QIT TEfHITAT AT STaTell SRAUIRT Uil AIGT 3RY 2Tehdll.

Rl RRATGHET SATYUR el 3 [erid Jeid IR Faer.
q) TR APHT AU TR PRo-T HUT AT B ATa.

R) ARAKNE BIE R dlp JAfUs fIhme! 3egd SR
3) 3 ST o6 JAUS FIRIIU JRAT BIwal.
¥) PRI o0 TARIIURAS! IS QR Racarat g1 agdl.

A kindney can be taken safely fro ma living person, and can save the life of a dying patient. Given
that the demand for kidney transplants exceeds the supply of donated kidneys, the law in the
India that forbids people to sell one of their kidneys should be abolished, because this would
result in a greater number of successful kidney transplants. People are worried that it would
involve rich patients exploiting poor potential donors. But selling one's kidney to support one's
family is not very much different from supporting one's family by working in a dangerous occupation.
Some patients have bought kidneys and received transplants in other countries, where the risks
to their life from such operations can be great.

Select an assumption supporting the above argument from following options.

1) Poor people are not able to receive kidney transplants.

2) Some people in India are willing to sell a kidney.

3) Kidney transplants carried out in many countries are rarely successful.

4) Changing the law would ensure an adequate supply of kidneys for transplant.

ty) f3FM T W9 IR S49fife G fofecar. ude ddt ardear a9 Jair svoiar 9

64)

et fiesdiar STemadR Fagd fom @1 Bigeret skisT el MY i a¢g, 0%, 9Y AT
IRy IT §xoT AT, BMM fofeeiet waid Adt I faer.
9) %3 R) 903 3) <9 8) 03

Zina has written down four natural numbers in column. She chose three of thee numbers a a time
such that all numbers had equal chances of getting added. Each triple she came up with sums
186,206, 215 and 194. Select the largest number that Zina has written.

1) 93 2) 103 3) 81 4)73

&Y4) Al THHBIR 3fTetel FHYST FHIehIvT SRIGUIRT ST STRITAT STTOT DI a = Sferial fohAd

9) ¥% Q) Yo 3) 4y 8) 49
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Study the accompanying figure showing overlapping equilateral triangles and select the value of
angle ain degrees.

2 oy
B |

82
I 's\\hllll
[

5o h\l

1)49 2)50 3)55 4)51

&%)

66)

IENUSICSSNSESIE

q)r%'h a)ﬂv

Select the odd object :

: i
D f{—h u 2) ﬂr
= 7

&)

qeId HaG PIeigdds argd AT ATal QRIaT U ST oo @ioHT e AT
RISl FreATcllel SREHdd Fder oo JpuR SIAT qafar s

QST SN : FIAURVAO ITECT I Hlereal STl ASeted R a¥eR
RGTSRIT ATCThT 3RV JHRIGER 3712, ST Sehl =T STid UeITd HTeld geleted] STaTsTiasd
ST T A Al MU d Adep T ST AR SRISTIHR T W :hs ST
WA 3. AT PRI goleted] TN Sfid LRI =l AR GRIT GI0Te THaIS
& gTdeied] R STeTSTdiel AT Jraau=aT QT QMU o Fd:al 3auare AT
e el 3.

QRICRAS : 31 T8, 8 SRR STEISl AdepIgeIdes UTudTd Ugd SRIedT ot 49 fRRmEel!
3MEd. T YIBT 3T O Theh Ml @I U], Jde Thl HHAPUINIG! d O

AU U5 SgAICTTeA] QRI gRIeITT ATeT SH_a.

[a o

q) PETE! JSTeIedT STEISTRATS! ANRY PBIRIGT SIR] PRaT Agel aT Ta.
) TSI gTodTcliel UM STIETaIReT STTSTTT WIS HTeTH<T Tgurol Ifd 31 ar ATgt.

3) gl STETTIR STETSTE! el Bl gl WIS ANYe F&a:aT Siia i aTefdrd
ar ra.

8) PRI GRPHR TEET URA SENel o AMeY 8% oTdel 3g a1 Arél 3/
TEUTUTET .
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67)

Read the following conversation carefully and using this as evidence, select the optino that serves
as a conclusion pointing to the disagreement between treasure hunter and archaeologist.
Treasure Hunter : In general, archaeoogical artefacts found on public property cannot legally
be privately owned. Centuries-old maritime law allows persons who risk their lives attempting to
rescue a sunken ship are permitted to keep whatever cargo they can salvage. Under this rule
treasure hunters clearly are entitled to keep the cargo from ancient shipwrecks that they risk their
lives to save from becoming extinct in salty ocean waters.

Archaeologist : Not so. These shipwrecks have stabilizer over the centuries they have lain
underwater. The only danger they are in is from greedy treasure hunters who destroy valuable
archaeological evidence in t heir hurry to loot artefacts for making high profits.

1) Whether is it legitimate to call antique shipwreck in public waters as private property.

2)  Whetheris it legitimate to call antique shipwreck in public waters as private property.

3)  Whether a treasure hunters risk their life when they salvage shipwreck.

4) Inwhat sense, if any, an ancient shipwreck can be said to be in verge of extinction.

&<)

68)

S Sa% Pral Atet Ridel Jmed. ATdiel T gaier o 9y et et fom p e feet,
P 7 ITclier U gettanie Rrarr 99 ey et Q & fiel. Q 7 awchier U et Ry weh
STreT fouer fo=am R a1 el e, SR R o Q dgd 98 fuel el &R S & g
9) RY ?) %0 3) 9RE 8) 30¢

S is having some colourful sea shells. She gave one third of these shells and 14 more besides to
P. P gave one third of these shells and 11 more besides to Q. Q gave one third of these shells and
one more besides to her friend R. If R got 14 shells from Q then select the number of shells S
originally has.

1) 195 2)210 3) 126 4) 378

&%)

69)

feeiet ATt aTae Fgsh AT g AT Il Siiel fast. 'B' @ 'C' T 9l 37ed R, 'C'
AT G ATal. P & 'C' AT 915 3T, A’ 3707 'B' g She’ 37, 'Q' & 'C' <l qenht R,
'R' € 'P' AT qeHT 37, 'S' 3707 'P' g SISy 3. 'T' g 'S’ I JSiet 37Tedl.

9) S-R )P-Q 3) B-Q 8) T-R

Select the pair of persons one of whom is the uncle from mother's side and his niece respectively
using given information. 'B'is the father of 'C' but 'C' is not his son. 'P' is the brother of 'C'.'A'"is
the spouse of 'B'. 'Q' is the daughter of 'C". 'R"is son of 'P".'S' is spouse of 'P". "T" is father of 'S'".
I)S-R 2)P-Q 3)B-Q 4)T-R

vo)

FTef! feeiean IR fAuridier gF faum Terd del A SRAUR T8N Uvd <l Ueprd dab! 31 A
3R . feetear aret ot awur=r St R awumRT vafa fyaer,

faym

a) X I TANG JERIciIeT Uepg! ANRep UTogmaT Uebg! &id IR Sletad ATal.

b) X T TeIRG ABIciler PIa ANRD Uil plosoilgeeh ORI,

MPSC IISIRIaT gd URI&TT : 2039 gd TR 4R-2 / 30



9o)

¢) X IT IAIRG TRl T ARReD giegrar R 7 &= roft aroRal.

d) X I IIRG TR Prel ANRD Suaisg= grofl groRard.

gl S :

1) (b)  (d) R) @) T (0) 3) @ T (b) 8) () 9 (d)

Two of the four statements given below cannot be true simultaneously but they can be false at the
same time. Select the option that indicates the pair of statements that satisfy given conditions :
Statements :

a) No citizen of smart city X wastes a single drop of water.

b) Some citizens of smart city X use water carefully.
c¢) Every citizen of smart city X uses water without caring about water crisis.

d) Some citizens of smart city X use water carelessly.

Answer Options :
1) (b) and (d) 2) (a) and (¢) 3) (a) and (b) 4) (a) and (d)

99)

71)

fafire Premaeiia qut e ] fre geheuret A, B, C, D, E, F, G 1for H a1 femeafqg
SF Y JIR PRI 31, SR G g H I Fe-9 A1dl a8 defl, TR Jeid SIS AR Fe-
R T A e

UhARIS! Fasa Sgel. P FRIIA ARG C T A Hied (a8 ool ST X
BHROT T THHPIERISR P PRI 3Maed WG A I H gHa a5 g1evdd dc ar
AT, B @ F 8 C sRISR WYY BT 6% Ahd Aeid. E &1 A T D ITeITeRIsR IRMET
B Do el R G SRR AT S T8l

9) A,B,FTJE ) B,EEdD 3) A,C,DTE ¥) C,B,DdE
Two teams are to be formed for completing two different projects in stipulated time using students
A,B,C,D,E, F Fand H. If G and H are selected as the members of team 1, select the members
of team 2 with respect to the following conditions.

There should be at most five students or at least four students in a first team. Each student is to be
selected for only one project. For smooth working it is useful to include C along with A as they
enjoy working together but A and H always waste time in debating. B and F are not comfortable

to work with C. E comfortably works with A and D but not with G
DA,B,FdE 2)B,EEdD 3)A,C,DdE 4)C,B,DdE

OR)

AT 3MeRd A (IRAT SRIGAT) 30T B (Beplon= gRgaetarr) 31em g9 hu=aid
HRTC Fafdte STt SRTeledT UItRTE UfoReUTT &Rdl. SR 2098 Tell A Hu!
fafd B a1 sumean fFrifdiear gue gidl. SR 098 Alefl A DU 3R B. goo BIcl
gt R @1 auid B Surea fafdiear Fafd Siaesurae! gt fhAd qRaGuiRT 93 faer.
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W13 012 2015 2016 27 dmET

9) 3. Yoo ) ®. %o 3) 3. 8o g) fagr Qeft g

72) Accompanying graphical representation shows rations of export to import of two companies
namely A (with seures) and B (with trangles) over the given years. In 2014, export of company A
ws double to that of company B. If the import of company A during the year 2014 is Rs.400

crores. Select the most nearest approximate export of company B during the year.

1.0 r

013 2013 2015 2006 27 o "

1) Rs. 500 2) Rs. 260 3) Rs. 470 4) Data is not sufficient

03) Gt AR faur ofdr A orgAr foeft amed. grarern focteft faem wer ARt amea,

III)W@W&WW
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73)

il SR :
9) Tpal I ARl Q) Beh (1) I 3) & (1) 9 8) Beh (1) T
Below four statements and three conclusions are given. You have to take the given statements to
be true. Decide which of the given conclusions logically true from given statements.
Statements : All roads are buses.

Some buses are cars.

Some cars are days.

All days are nights.
Conclusions : I) Some nights are buses.

IT) Some nights are cars.

III) Some days are buses
Answer Options :
1) None true 2) Only (I) true 3) Only (I) ture 4) Only (III) true

v%)

74)

Teft fetelt Arfed sramT anfor feeiean faumicier e sy frasr.

Tha Pedlciicl Tich Ithl fUUITIT AR T g1 fUum=iT Qepur eeiea e o
31 3T Whch Tl fUUI=T eaehil! ARedT pith! fUUI=IT UqHuT AR ST A 3.
faum

a) e Dithl fohdT TR IgT fohaT Sial fUUT=AT Sehi<l Tehur HReT thch ithl fhdl theh
b) Wh Bithl fUum=aT SMftT theh @@l fUUm=aT bl ThuT ST Sl @ @l Qe
ggfft W :

q) Hh (b) R) (a) T (b) THE! RN

3) (a) T (b) S 8) Hth (a)

Study information given and select valid conclusion/s from the given statements based on it.

In a joint family the number of members who take only coffee is equal to the half the number of

members who take tea and the number of persons who take only tea is equal to the half the

number of persons who take coffee.

Statements :

a) The total number of persons who take either coffee or tea or both is thrice the number of
persons who take only coffee or only tea.

b) The total number of persons who take only coffee and those who take only tea is twice the
number of persons who take both coffee and tea.

Answer options :

1) Only (b) 2) Neither (a) and (b)

3) Bloth (a) and (b) 4) Only (a)

9Y)

T Ul STetedn JAd fo=a faeneaiear giiaes STherreal SRR ol B!
gich. et fom @i sforrnelt FEfiia ot @ wareur i SRanaeid g et fon
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75)

beledT FemrRT AlGd [T dhel. Rl aedel B a1 AT 1 HRIAM g SH

SRR e I Ui g, PRAe HRIFM YA SRIFHRAT Jord Qe

IR 3Tg. ST PRI PR PRATIET WleredT Uawid 31Tg 0T e BRI

HIShedT BRI qvea] UIdesi 3T,

7 TRl SMUR deted Yéia fumitd! v faum & gt ?

q) HISHAT RIFFEET gReft Arfec TS I1 grdiEr gedl A dadT AUR TR

Q) PRIIFTRAT dEdd IaRdT $HH AT ST @R AT HhATR T8,

3) ST PRAM SRAT Joid Mfegduul 3R draidl aRae 3Mg, 3™ WHH ol
JUIR TEY.

¥) ARl fIaR el ARl dR YA PRI B9 g 47 T Hfeaduo a_Rae 3.

Sana wanted to compare her students' performance after competion of present term with respect

to Historical understanding. After analysing their documents related to history activities and

assignments and their records of class work, she found that Ashu's performance level is higher

during the term than that of Beena. Karim's performance is If lower level than that of Dharm.

Beena's performance is of lower level than Karim's and Ashu's performance level is higher than

Mike.

Which of the following statement based on above information is correct ?

1) Itisnot possible to decide ascending order of these five as there is no sufficient information
about Mike.

2) Beenacertainly ranks fourth when performance is arranged in descending order.

3) Ashu's performance is not definitely of high quality when compared with other four.

4) If we are not considering Mike then Dharm's performance is definitely of high quality than
Karim and Beena.

V&)

Decision making and problem solving question no. 76 - 80.
ggfaRufia Sicheruna faQvel SRAUIIT UhT STy vdd WHW U Jral dM avd
SR, AT HIADIAT PISHT AT SHoll IUTGH ROMAT AT JHeaT T
3TgdTeT ST bell MR, AT TR Fegyur Hebd UicrIT Ygepray feeare JHedT TgdTelld
SRIT 3TR. SR g 3TaTel URIE Phell IR Tl BT IR SReiedT vl Figut Ig auard
Iz el yHh! PIE ARIDR SARYBRI Trelell od AMed. d ARTDIT TARNSBER AT
fauRTITeT =T ARITET STgaTel ATGR PRUARAIC! SdT1d AT MR J TTe GHeAT JILTRIDII
TR fAearATEdT SHGSel! SR 3Te. a1 URFRIAT Tl ... T €Tt
... T TSP 3197 YepIReT I JcTeled 3 AR AT YNNG GolIRT
g TR O SIS ITS PHROATAT ...
) ... PO TFAHHEGR DT I AT IATe T ITS PRI ...
3) ... g 31gdleT UYH JFare aRSihs TR PRI g I JTEEd N0 PRUIRITS!
IRV B Gl GORT DRUINIS TRAT 3@l S el TRRAGRITS! TFuaTeT ...
®) ... Yl IINTEIT Tal T HRAl SHAITS! 3Tgdldl U8 IRUITAT ...
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V&)

You are working as the head of a NGO that is specialized in environmental audit. Your team has
complied a report about government owned power eneration units that use coal. Your report
shows that these units grossly violate pollution norms. Some government officials are threatening
you that they will cancel registration of NGO for which you are working with for making this
report public. They are pressurizing gobernment laboratories for submitting favourable report
about these units and this would tarnish the credibility of your NGO. In this situation your priority

| I get your findings confirmed from another laboratory that is run by organisation engaged
in similar work and then disclose the results to public.

2) . disclose the report as it is and put the blame on outdated machinery.

3) . submit this report to the higher authority and wait for their response by giving them
sufficient time for investigation and implementing correcting measures.

4) disclose the report to the public without caring about the threat.

Vo)

Vo)

T JTGIUATAT B ThT IITGATaT Gol Sqeruanelt Fefed drat (R goard e aks

SEEER FIAT IR gaaT b Beed RMe T AleT Siell. AT AHRIT Al RTe!

SR GRATYA Alcl Fafed el 312, I AN AT HeARIGUT H1fRd! Hoarret

I UTIRYT hel Mg, Ucfeled] FUfam qrel UToRmau vl 3 g aRsid grarell

AT 37TR. IAT Q- auiATS! 1 T aRs SRIUIR 3Med. T,

9) IR F:gemmh auiF aRie SMftT Wi JHaH CIRUINTG! 312 el
frofried g Rifecis Ste T 9 gAd 99 S TS IRITel ST
Higlel ATl HFcie Wil &t

) IRTER IURY YIS AT JTedT § AT AR AeaaUiaR gRomE grogrt
FIAT IRITR! ST Plal Tl AT JATTRY qui T

3) I geadht FEfd O PIE) gsel IR JATIRY Ui RISl IMMOT aF aRaHT aRSiHT
TFATIREIT HE AERABIAT Al PAT FCHITT el dAraa IR R T,

) AT IR JYHMIIRIT SrIaUIRTS! aRd AT 9 el SATadTRIc AgAeeTd
1T I T IS eI gegau™ qral SISl SMTET 3R SRaaTa.

Your boss was responsible for some decisions related to changing quality of some product for

increasing profit but unfortunately that was run into losses due to fall in sales. The management of

the company compiled a committee to enquire into this problem. This committee called for your

deposition regarding this issue. Your boss wants you to defend the decisions taken by her. She is

likely to remain your boss for next two-three years. You would.

D .. give the fair account of the situation and assure the committee that in future though being
subordinate you and your team members will take care to assert your critical views related
to these kinds of decisions for avoiding loss.

2) ... just give the impartial account of what has happened that might result in her implication,
though you are sure that this act will affect your professional relations with her.
3) ... give the fare account and emphasis how she summarily rejected the suggestions given to

her by her junior assistants like you related to this matter.
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4) ... show your lack of knowledge related to this matter for saving your boss from
embarrassment and your professional relations with her.

ve)

v¢)

Tre! TepT RTTE STHTIGRT 3RTetel aRs TR TRIERT STTETd M1 IreTel qEiRaTat WeriiReT

AT STURIT ERTeT 1t FHTG! Jfudt U U Iguare =t suard

3Tt MTE. AT ST UIEUITATS! FaTRT ST Jralell STRISTRIT HISehas el Jfeted] Fueied]

3T a1 UTERIe fisredr. SiegT grél dieheft dheft der gt R Ao apvomraT

faepRIchI-T T | AT §SU el SRIT T LN STRIT JEUITT 91T UTSet JRIedT aT

AlpiT Aiffidel. JERATS! BRTE Gt 0T FRUR T T IMEUIR Al I ST AT

d T TSR gTult JTORUARN, AT 371 PRUIRT a1 AR HRUIT, dHIds] aTiRugTR

TG IRA IRl T TETel Aiffidel. Il Jeratda ... YT T,

9) ... IT HETRAT AR &S HETETeaidid, Tad:ear fqemeafar geer e
STETIEHTT A T YRTICHE AIehicl HEHIHRUT SHRUIT TSI ARG <t HErHSIehg

Q) e g B, FASThips IT IRFRRIAET wad:dl AR h o AT JETd e
i defier @ SUHN] SAHT T g8 T 1Al ST SR T QU .

3) WWWHWWWWWW&
JfRaTerieT WA WA A T SREAUITEEd AT SuaTeT ...

8) ... PRI PRIATE PRUR TGN DRV TIBIAT -7 ARMERIE ST AR AR ol
fasary SauarreT ...

As the senior civil officer in-charge of some area, you are requested to be guest at annual gathering

of privately run old age home. While travelling to this place you came across many small settlements
where tribal people were living in depleted shanties, though the area is full of natural resources
like forests, rivers, springs and water ponds. When you iknquired, people told that all the resources
were grabbed by developers of old age home, forcing them to settle in small areas. They also told
you that since people running old age settlement and inmates of the home are from high cast and
they prevent these people from using river water, having a bath in the river or do fishing, using
forest produce etc. Your priority will be to :

1) make and execute a plan for empowering people in the area with the help of teachers of the
colleges from urban part of the area who are interested in assisting their students in getting
practical experience related to the theories of humanities and sociology by procuring funds
from corporates.

2) cancel your visit to the taghering by expressing your distress about the situation, order the
authorities of old age home to give these people their dues and allow them to enjoy resources
in the area.

3) attend the gathering, tet correct information about the situation and convince the organizers
and immates to have some sympathy towards the real owners of the resources during your
speech in a friendly manner.

4) Don'ttake any action as you believe that everyone has to live with one's fate.

9R)

AT TG ¥a<ad] SUshH HEfed PRUTIT GehT piciial Ter qrel Aevd JMMeMd. & UTd
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e ARATT U IS HHAR! A=Al & IIqHT VhedTIRId e A4 AeR JRavY STetel
3T 3T a7 IR TFeTel SGe1 PRI 3R, [IUATRAUT 3elell AhIE HHART SIegl
TERTT &R fohdl SUETd FRAT degrd T ST a0 J0T Plofiel Faa:<aT STfRBRId
"B ST T 31 ; STl TR SURI %’ 3™ FgUITT U A ATal. ST 3 T
h! AHTS PRUT g1 ' IATEAT(HD IFIHT 3R’ 3R AT 3RTel TRl TP AhIE HHAR! 3
Al fI=T BTIaM ATH Rl RO ATATDhS T Tad! 3MfoT ST STt Fohrgeft Seater
3MMEd T SIFHIeT AU Gl Aih=a1 fiesd Arga a1 aegferdielt gral wd aRfea
3TTEI. PTal T JIGITTAR AU ST 3T AHIS PHARAT FE&T 9,40,000
T IS AT, I7 Terd e g0 Tl SR AT ... WG PRI WU &ia.
q) ... freft MoeT BT B ETTABIST SRR (?) P ad:aR HUIR D SUDBRIT [JpRId
) ... THIS PHAR! gIaTBISTT M7 YeqTd AT HRuIET USiY 3fie sriciedn
ST A STAeATIe AT ATTNID U9 g AT ASauaaT ...
3) ... Sicgl S<h! 3191 STcid dred degr focdt fhar <t s faRiend IW et
& ST URTGT dhetl ST FgUd AWl AT e el ATeRA ROl ...
8) ... FAATUR] ST 1T eh el RIS U Hdeaeliel STavITS! AT e
AR T STia GRIAT RIS ST A1 P TSt amd &% 1) JRTet
IR SETE TTHUITATS! dT Maedes feft M1 PHRuaRIS T Ths JuIT

Sldlgd dRUIAT ...

You are a member of one active group that organizes cleaning sessions in your area. After reading

the news that a safai karmachari dies every five days in India, all members of group have become

restless want to work toward changing this situation. You all are quite aware of the fact that the

wretched manual scavengers briefly makes news when there is a sewer death due to asphyxiation

or accident, but no authority is beard saying : "This is our problem : we'll fix it.' You all are aware

of the fact that though many notable persons talk of manual scavenging as a "spiritual experience"

for any scavenger cleans other people's excreta because there is no option and no alternative

employment for those born into the castes identified with scavenging. According to estimates of

some agencies numbers of scavengers in our country is closer to 1,50,000. As a member of this

group you will persuade other members to give priority for ........

1) Collecting funds and finding innovators for developing technological gadgets that can take
over the grossest (?) task of scavenging.

2) tackling it as a social problem as the safai karmacharis come from castes, which have a long
history of manual scavenging and enduring discrimination.

3) assisting scavengers to get empowered to fight injustice as when person grow in such a
caste her or his ability to stand up to injustice is rendered lame at birth.

4) using social media for making people at large sensitive toward plight of these people and
invite them to come together to pressurize government to make their life safe and at least not
a curse and for collecting needed fund.
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31 Y g R Il ST ITH AT fHiesad gidl AT T TR TR AR Jiasma
3oT R ufshar aTe] Saeht uifgst’’ g M T, U AIdT R AAquaTET vl
3TN FRIeIel T JESTd Jral HUE 7 Veheledl Bediar STUTRA TSI 88 JHTHhS
AT armRd ST siera: Nl AedTS fas ol greTad! Selvr @1 MR, T,

9) I Ieh! FuAenRa T ufshar HemRdi= erifad PR TIeT R 3R,

THSTTIAT AT T dQelAT IR g% 3UIgH P T IMMOT T ] U]&Id

STOTUIRATS! TS & ST P JGIdTd @ RN J AR RGeS agred.

R) Uty Feft SEEER BITeTaT el JefrTce JUET SRIeIT el STaesuRT e g
a1feres I STl oM gfRqdeaT SMTUR B el aRid o] QRIS g1,

3) AT I U AT TRARM TIrTet 371for &1 faswamme: =4 aafas g fafere
SR TG TR T8I 89 7R PRUIRITS! elhR &Ta.

8) AT JEISTHT TR PRUINAIST o JHAFE! SIREH  FIATGUANIIG! STRTum=IT
UTeH foIg A9 31ed STl AT Fagy QT el FaT Hed-iar JanT o

lel.

All these years your are heading the department that looks after the promotin of industries and
the rule till now is "we were doing this for many years and making good profits and to be safe we
should continue with this process in nearing future". But what you see now that young entrepreneurs
with no experience of running business are coming with their proposals with ideas you never
heard of and business are coming with their proposals with ideas you never heard of and business
are coming with their proposals with ideas you never heard of and making difficult for you the
selection for partial financial assistance. You will,

1) study how these persons are trying to implement new research based processes, design
product by recognizing the new or changing needs of the society or markets, and how they
plan to apply and employ technology to their visoin and then select proposals.

2)  work with the rule book as you did for last twenty five or more years to be on the safe side
because you are expected to handle available funds responsibly.

3) take time for studying the proposals in details and take initiative in developing new rules for
proposal selection that are flexible and consider knowledge age needs of particular industry.

4) select proposals that are developed by persons ready with venture capital to handle the risk
of loss and let them experiment with their new ideas for promoting entrepreneurship in the
state.
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